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Chapter A

Preparing the ground

A1l The algebraist’s dream

For the lecture of 18 January 201/

The algebraist thinks: ‘Analysis is hard. Can we reduce it to algebra?’

Idea Use power series.

1 Many functions f: R — C can be written as a power series,
o0
flx)= Z ez (A:1)
n=0
If we can deal with the sequence (¢, ) rather than the function f, everything

will be much easier (and more algebraic).

2 If we can express f in this way, then the coefficients ¢, must be given by

F(0)
Cn ="

(Proof: differentiate each side of (A:1) n times, then evaluate at 0.)

3 Problem: Y ¢,2™ might not converge. Or, it might converge, but not to f(x).

Fo) = {e‘l/‘” if x #0,

E.g. put

0 ifz=0

(Figure A.1). Tt can be shown that f(™(0)/n! = 0 for all n (which you
might guess from the flatness of the function near 0). But of course f(z) #
oo 0+ z™ except at z = 0. This brings to light:

4 Another problem: different infinitely differentiable functions can have the
same power series. (E.g. this is the case for the f just defined and the
constant function 0.)
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Figure A.1: The function z e~1/a’

5 Yet another problem: the power series method only captures infinitely differ-
entiable functions. (For recall that every power series is infinitely differen-
tiable inside its disk of convergence.) However, many interesting functions
are not infinitely differentiable.

6 In this power series approach to functions, the number 0 is given a special
role. This isn’t necessarily good or bad, but might seem a little suspicious.
We could equally well consider power series Y ¢, (x —a)™ centred at a, for
any other value of a.

7 Also suspicious: the power series %x" of f depends only on the values
of f near 0. In the jargon, it’s locally determined. You can’t reasonably
expect to predict the value of f for large |z| given only the value of f for
small |z].

In other words, if you had two functions f and ¢ that were the same
throughout the interval (—d,d), then they’d have the same power series.
However, they might have very different values outside that interval.

So for various reasons, the algebraist’s dream can’t be realized using power
series. However. ..

Alternative idea Use Fourier series.

1 Many 1-periodic functions f: R — C can be written as a Fourier series:

flx) = Z @y, COS 2TNT + Z by, sin 2rnx
n=0 n=0
(an, b, € C). 1-periodic means that f(x + 1) = f(x) for all z € R.

(Clearly any function expressible in this way is 1-periodic. You might be
more used to dealing with 27-periodic functions and Fourier series involv-
ing the terms cosnz and sinnz, but the difference is purely cosmetic.)

Since . ‘ ‘ .
cosf = (e +e710) /2, sinf = (e — e~ /2i,



we can rewrite this more efficiently as

oo

f(x): Z Cke27rika:

k=—oc0
for certain ¢; € C. (Note that the sum starts at —oc.)

2 If we can express f in this way, then the coefficients ¢; must be given by

1
ckz/ f(z)e 2™k dy,
0

(We'll see why later, or you can try proving it now.)

3 Problem: Y cxe?™*® might not converge. Or, it might converge, but not to
f(z). (There are examples of both these phenomena.)

4 But unlike for power series, different continuous functions always have differ-
ent Fourier series.

5 And unlike for power series, functions of many kinds can be captured using
Fourier series. Far from having to be infinitely differentiable, even some
discontinuous functions can be captured.

6 And again unlike for power series, in the definition of ¢, no point in R is
given a special role.

7 And once more unlike for power series, the Fourier series > ¢,e2™% of f
depends on all of f (since ¢ = fol f(z)e=27= dg and the periodic func-
tion f is determined by its restriction to [0, 1]). In the jargon, it’s globally
determined. So it’s not unreasonable to expect to be able to predict the
value of f for all x given only the Fourier coefficients c¢,. We’ll see that
we often can.

The algebraist’s dream can’t be fully realized. But Fourier series come closer
to realizing it than power series do, at least for periodic functions on R. They’re
not as obvious an idea as power series, but in many ways they work better.

We'll spend a lot of the course exploring the extent to which functions can be
understood in terms of their Fourier series. There are many analytic subtleties,
which we’ll have to think hard about.

The development of Fourier theory has been very important historically. It
has been the spur for a lot of important ideas in mathematics, not all obviously
connected to Fourier analysis. We’ll meet some along the way.



excessive optimism
Cauchy, 3
Dedekind, Dirichlet and Weierstrass, 67
Dirichlet, Gauss, Green, Kelvin and
Riemann, 126
Faraday and Morse, 333
Galois, 38
Hegel, 370
Hermite and Poincaré, 42
Pearson, 424
Poisson, 119
Steiner, 163
excessive pessimism
Delambre, 473-4
general, 4, 74
Lagrange, 473
Tchebychev, 198

Figure A.2: Excerpt from the index of Tom Koérner’s book Fourier Analysis

A2 Pseudo-historical overview

For the lecture of 16 January 201/

Most mathematicians are terrible historians. They can’t resist recounting what
should have happened, not what did happen. I can’t claim to be any better—
hence the ‘pseudo’ of the title.

This lecture is all about the ‘excessive optimism’ and ‘excessive pessimism’
mentioned in the index of Korner’s book (Figure A.2).

A 1-periodic function on R is determined by its values on [0,1) (or any
other interval of length 1). We say that a l-periodic function is integrable if
its restriction to [0, 1) is integrable in the usual sense. Let f: R — C be an
integrable 1-periodic function.

For k € Z, the kth Fourier coefficient of f is

1
fi) = [ sl .

The Fourier series of f is the doubly infinite series Sf given by

(SH@) = > fk)e™e.

k=—oc0

It’s not entirely clear what kind of thing Sf is. For instance, it might not
always converge, and it’s not even obvious what convergence should mean. But
the following definition is perfectly safe: for n > 0, the nth Fourier partial
sum is the function S, f given by

n
(Suf)(@) = D fk)e ™.
k=—n
Classical question: for ‘nice’ functions f, is it true that

(Snf)(x) = f(x) asn — o0

for all z € [0,1)? For ‘most’ z € [0,1)? For some z € [0,1)?



This is the question of pointwise convergence. There are other kinds of
convergence, as we'll see, some of which are important in ways that pointwise
convergence is not.

Fourier himself (1768-1830) thought that yes, it’s always true. But he was
imprecise about this (and most other things). It’s not even clear what he would
have taken the word ‘function’ to mean.

To start with a point that was certainly clear to Fourier himself, it can’t
be true for all x and all f. For instance, suppose it’s true for all z for some
particular f. Define g to be the same as f except at one point of [0,1), where
it takes some different value. Then §(k) = f(k) for all k, so Spg = S,,f for all
n, so it can’t also be true that (S,g)(z) — g(z) as n — oo for all z.

(For instance, take g to be the 1l-periodic function given by g(z) = 1 for
x € Z and g(x) = 0 for ¢ Z. Then for all n, the function S, g has constant
value 0, so (Spg)(z) /4 g(z) whenever x € Z.)

Backing up Fourier’s intuition, Dirichlet proved:

Theorem A2.1 (Dirichlet, 1829) Let f: R — C be a 1-periodic, continu-
ously differentiable function. Then (S, f)(z) — f(z) asn — oo for allz € [0,1)
(or equivalently, for all x € R).

Once Dirichlet had proved that, it was generally believed that ‘infinitely
differentiable’ could be relaxed to ‘continuous™—that it was just a matter of time
before someone figured out a proof that would work in this wider generality.

Most of the most prominent mathematicians of the day believed this. Dirich-
let believed it, Cauchy, believed it, and Riemann, Weierstrass, Dedekind and
Poisson all believed it. Cauchy even claimed he’d proved it. (Standards of
rigour were lower in those days.) Dirichlet promised he’d prove it, but never
did.

But then came a bombshell.

Theorem A2.2 (du Bois-Reymond, 1876) There is a l-periodic, contin-
uwous function f: R — C such that for some xz € [0,1), the sequence
((Snf)(x))zozo fails to converge.

Using this example, it takes comparatively little effort to construct a 1-
periodic continuous function such that ((S,f)(x))22, fails to converge at 10
points, or 100, or 1000:

Theorem A2.3 Let E C [0,1) be a finite set. Then there is a 1-periodic, con-
tinuous function f: R — C such that for all x € E, the sequence ((Snf)(w))zozo
fails to converge.

Widespread pessimism ensued. The pendulum swung from the general con-
sensus that Fourier series behave perfectly for all continuous functions to the
opposite extreme. After du Bois-Reymond’s theorem appeared, it came to be
believed that there was some 1-periodic continuous function f: R — C with the
property that for all x € [0,1), the sequence ((Snf) (x))zozo fails to converge.

This pessimism was reinforced by a further example:

Theorem A2.4 (Kolmogorov, 1926) There exists a 1-periodic, Lebesgue in-
tegrable function f: R — C such that for all x € [0,1), the sequence
((Snf)(m))zozo fails to converge.



We won’t be doing Lebesgue integrability in this course, and I won’t assume
you know anything about it. But as general cultural background:

Remark A2.5 Every Riemann integrable function is Lebesgue integrable. (In
particular, a Lebesgue integrable function need not be continuous, and Kol-
mogorov’s example certainly wasn’t.) Moreover, the Lebesgue integral of a
Riemann integrable function is equal to its Riemann integral. However, there
are functions that are Lebesgue integrable but not Riemann integrable. So, the
theory of Lebesgue integration extends, and is more powerful than, the Riemann
theory.

This situation persisted until relatively recently. For instance, one of the
books on my own undergraduate reading list was Apostol’s 1957 text Mathe-
matical Analysis. In most respects, it is like today’s textbooks, but he states in
it that it’s still unknown whether for a continuous function, the Fourier series
has to converge at even one point.

The turning point came in the 1960s.

Theorem A2.6 (Carleson, 1964) Let f: R — C be a 1-periodic function.

o If f is continuous then (Sn,f)(z) — f(z) as n — oo for at least one
xz €10,1).

o Better still, if f is Riemann integrable then (S, f)(z) — f(z) as n — oo
for at least one x € [0,1).

e Better still, if f is Riemann integrable then (S, f)(z) = f(x) as n — oo
for almost all z € [0,1). (‘Almost all’ will be defined later.)

e Even better still, if |f|?> is Lebesgue integrable (which is true if f is Rie-
mann integrable) then (S, f)(z) — f(z) asn — oo for almost all z € [0,1).

All known proofs of Carleson’s theorem are hard, still far too hard for a
course such as this.

(I say ‘still’ because most hard proofs of important facts are simplified over
time. This was a big theorem that attracted a lot of attention, so lots of people
have put in lots of work to simplify the proof. They have simplified it, but
it’s still well beyond our reach. This is true even for the very watered-down
version of Carleson’s theorem in the first bullet point: that for merely continuous
functions, there is merely one point at which the Fourier series behaves well.)

Carleson’s theorem is best possible, in a sense that can be made precise
(Theorem A3.18). Roughly, this means that you can’t do any better than ‘al-
most all’. It almost completely answers the question of pointwise convergence of
Fourier series. But there are other types of convergence too, and the behaviour
of Fourier series from those points of view is interesting too, and has provoked
a lot of mathematical developments—as we shall see.



A3 Integration

For the lecture of 20 January 201/

We won’t be doing any Fourier analysis for the first couple of weeks. The course
pulls together several strands of analysis, and we’re going to look at them one at
a time before attempting to bring them together. This has the disadvantage of
postponing the moment when we first see any Fourier theory, but the advantage
that we can concentrate on one thing at a time.

For the rest of this section, let I C R be a bounded interval.

Definition A3.1 i. A function f: I — R is integrable if it is bounded and
Riemann integrable.

ii. Let f: I — C be a function. Writing f;, fo: I — R for its real and
imaginary parts (so that

f(z) = fi(z) +if2()

for all z € R), we say that f is integrable if f; and f; are both integrable.
In that case, we define the integral of f by

/If($)d$:/Ifl(x)dx+i/lf2(ﬂ?)dx.

Part (i) is a declaration about how the word ‘integrable’ will be used in this
course. Other people use it differently. For example, a more permissive meaning
(which you don’t have to know anything about) would be ‘Lebesgue integrable’.

Examples A3.2 i. Bounded continuous functions are integrable. (If T is
closed then ‘bounded’ follows automatically from ‘continuous’.)

ii. Let J C I be an interval. The characteristic function (or indicator
function) of J is the function

XJ:I_>C

defined by

(2) 1 ifzed
xTr) =
X 0 ifzgJ.

Then x is integrable, and [; xs(x)dx = |J|. Here |J| is the length of
the interval J, defined by |J| = sup J —inf J (or as 0 if J = @)). Concretely,
if J is [a,b] or [a,b) or (a,b] or (a,b) then |J| =b— a.

Notation A3.3 Let f,g: I — C. We write f +g: I — C for the function
defined by
(f +9)(@) = fz) + g(z)

(x € I). We define f - g similarly, f by f(x) = f(x) (where the bar means
complex conjugate), and |f| by |f|(z) = |f(x)]. Given ¢ € C, we write ¢: I — C
for the function with constant value c. So, for instance, ¢ - f (or cf) is the
function I — C given by (c¢f)(z) = ¢ f(x).



Lemma A3.4 i. If f,g: I — C are integrable then so is f + g, with

/I(f+g)(:c) dI:/If(:L') d:er/Ig(x) dz.

. If f: I — C is integrable and ¢ € C then cf is integrable, with
/(cf)(x) dx = c/f(:c) dz.
I I

i, If f: I — C is integrable then so is f, with

/If(x) dacz/lf(x)dx.

Proof Parts (i) and (ii) follow from the corresponding properties of real-valued
integration, and part (iii) follows directly from the definitions. O

I’ll occasionally state ‘Facts’, without proof. Some of these facts were proved
in previous courses (such as PAA). Others weren’t, and I’ll be asking you to take
those on trust.

Fact A3.5 Let f: I — C be an integrable function and ¢: C — C a continuous
function. Then the composite ¢ o f: I — C is integrable.

Example A3.6 If f is integrable then so is |f|P, for any real p > 0. (Take
¢(z) = [2|")

Lemma A3.7 If f,g: I — C are integrable then so is f -g: I — C.
Proof See Sheet 1, q.3. |

(If you’ve come across Lebesgue integration, you may be aware that both
this lemma and Example A3.6 fail for Lebesgue integration. This is one respect
in which the Riemann theory makes life simpler.)

Fact A3.8 If f,g: I — R are integrable and f(x) < g(z) for all x € I then
f] f(x)de < flg(:c) dz.

Note that this is for functions into R, not C; inequalities makes no sense in

C.

Lemma A3.9 (Triangle inequality for integration) If f: I — C is inte-
grable then | f| is integrable, with

‘ /I F) da

Proof That |f|is integrable is a special case of Example A3.6. Since fl f(x)dzx
is a complex number, we may write
/ f(z)dx
I

/If(x)d:v:u

< / |£l() da.




for some u € C with |u| = 1. Now

/If(:zr)d:r /If(a:)d:r :Re(%/lf(x)dx) :Re/léf(x)da:
:/IRe(%f(a:)) dx (A:2)
< / ‘%f(m)‘dx (A:3)
= [1r@ldz = [ i1l do.

Here Re(z) denotes the real part of a complex number z, equation (A:2) follows
from the definition of complex-valued integration (Definition A3.1(ii)), the in-
equality (A:3) follows from Fact A3.8 and the fact that Re(z) < |z| for all z € C,
and the rest follow either from earlier lemmas or directly from the definitions.[]

= Re

We now come to a very important concept. It was introduced by Lebesgue,
and forms part of his theory of integration; and although we are not studying
that theory, we will need this one particular concept.

Definition A3.10 A subset E of R has measure zero (or is null) if for all
e > 0, there exists a sequence of intervals (J,,)5; in R such that

EC Loj I, and i|Jn| <e.
n=1 n=1

Examples A3.11 i. Any countable set E C R has measure zero. This is
clear for £ = (), so assume E # (). We can choose a sequence (z,)52 ; such
that E = {x1,72,...}. Lete > 0. Put J,, = (xn—Q_("‘H)s,xn—|—2_(”+1)5).
Then ECUE, and ) |J,| => 07 27 "e =¢.

ii. There also exist uncountable sets of measure zero (such as the Cantor set).
iii. If E has measure zero and F' C E then F' has measure zero.

iv. Let J be an interval with |J| > 0. (This condition just means that J is
not empty or of the form {a}.) Then J does not have measure zero. This
is not as obvious as it sounds. If you do think it’s obvious, try proving it!

Definition A3.12 Let S C R. A property P of points € S holds almost
everywhere (a.e.), or for almost all x € S, if there is some E C S of measure
zero such that P holds for all z € S'\ E.

For example, if f,g: I — C then
‘f=gae’
and
‘f(z) = g(x) for almost all =’

both mean: there exists a subset E C I of measure zero such that f(z) = g(x)
forallz € I\ E.
What’s this got to do with integration?

10



Fact A3.13 If f,g: I — C are integrable and f = g a.e. then [, f(x)dx =
J;9(x) de.

Fact A3.14 Ifh: I — R is integrable, h(x) > 0 for allx € I, and fI h(z)dx =
0, then h =0 a.e..

Proposition A3.15 Let f,g: I — C be integrable functions with f = g a.e..
Assume that |I| > 0.

i. Let x € I. If f and g are both continuous at x, then f(x) = g(x).

i. If f and g are continuous then f = g.

Proof For (i), suppose for a contradiction that f(x) # g(z). By continuity, we
can find some 6 > 0 such that f(¢) # g(t) for all t € (x — §,z + §) N I. Also,
since f = g a.e., we can choose E C I of measure zero such that f(t) = g(¢) for
allt € I\ E. Then (x — 6,2+ ) NI C E, so (x — §,z + 6) NI has measure zero
by Example A3.11(iii). But |I| > 0, so (x — §,2 4+ §) N[ is an interval of length
> 0, contradicting Example A3.11(iv).

Part (ii) follows immediately. O

The next result makes no mention of the concept of measure zero.

Proposition A3.16 Let h: I — R be an integrable function with h(t) > 0 for
allt € I and [, h(t)dt = 0. Assume that |I| > 0.

i. Let x € I. If h is continuous at x, then h(x) = 0.

. If h is continuous then h = 0.

Proof We could deduce this from Fact A3.14 and Proposition A3.15. This is
unnecessarily complicated, though. Sheet 1, q.4 asks you to find a direct proof.[J

The last two results of this lecture are non-examinable, and are included just
for background.

Fact A3.17 A function f: I — C is integrable if and only if it is bounded and
continuous a.e. (that is, the set {x € I : f is not continuous at x} has measure
zero).

For example, xgno,17: [0,1] — C is not integrable, since the set of disconti-
nuities is [0, 1], which does not have measure zero.

At the end of the last lecture, I said that in a certain sense, Carleson’s
theorem (Theorem A2.6) cannot be improved. Here is the precise statement.

Theorem A3.18 (Kahane and Katznelson, 1960s) Let E C [0,1] be a set
of measure zero. Then there is a 1-periodic, continuous function f: R — C such
that for all x € F, the sequence ((Snf)(x))zozo fails to converge.

11
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Figure A.3: The area between f and g is small, but the largest difference between
them is large.

A4 What does it mean for a sequence of func-
tions to converge?

For the lecture of 23 January 201/

There is no single right answer to this question. Compare the question ‘how big
is a person?’ I might interpret that as a question about height, but you might
interpret it as a question about weight. Neither of us would be right or wrong.
Height and weight are correlated, but not logically related in an absolute sense.

Related to the question of the title is another question: what does it mean
for two functions to be ‘close’?

We might say that two functions f and g are close if the area between their
graphs is small (that is, [|f(z) — g(x)|dz is small). Or, we might say that
they are close if their values are never too different (that is, sup, |f(z) — g(z)|
is small). Both ideas are sensible, but they are not the same, as Figure A.3
demonstrates.

For the rest of this section, let I C R be a bounded interval of length > 0.

Definition A4.1 Let f: I — C be an integrable function. Define:
e Iflx = J;1f(@)|dz, the 1-norm of f;

o [Ifllz2 =+/[; |f(2)]?dz, the 2-norm of f;

e ||f]lo =sup|f(z)|, the co-norm or sup-norm of f.
xzel
Remarks A4.2 i. In the definition of || f||2, it really makes a difference that
we write | f(z)|?, not f(z)?, since f is a complez-valued function.

ii. The definition of || f||~ is only really appropriate for continuous functions
f. We will mostly stick to continuous functions when we speak of || f||so-

iii. The word ‘norm’ is actually not quite right, for reasons that will soon be
explained.

1/p
iv. For 1 < p < o0, put ||f|l, = (f1|f(x)\p dx) . Tt can be shown that

lim ||f|l, = | flleo for continuous f, which explains why it’s called || - ||co-
—r O

12



If we want to refer to the 1-norm in the abstract, we sometimes write it as
[I-1l1. The dot is a blank or placeholder, into which arguments can be inserted.
The same goes for || - ||2 and || - ||oo-

Lemma A4.3 Let || - || stand for any of || - |1, || - |l2 or || - |leo- Then for all
integrable functions f,g: I — C and all ¢ € C:
i 1 F1=0;
i lef{l = lef - 1f1l;
it |1f + gl < [1£1 + lgll-
Proof All easy except (iii) for || - ||2, which is Sheet 1, q.6(iv). O

A norm on the set {integrable functions I — C} is an operation satisfying
conditions (i)—(iii) and one further condition: that if || f|| = 0 then f = 0. This
further condition fails for ||- |1 and [|-||2 (as the next example shows), so strictly
speaking we should call them ‘seminorms’. But I will abuse terminology and go
on calling them the 1-norm and 2-norm. (The oco-norm really is a norm.)

Example A4.4 Define f: [0,1) = C by

Fa) = {1 if 2 =0,

0 otherwise.
Then [|f]lx = [|fll2 = 0 but f # 0.
Lemma A4.5 i. For an integrable function f: I — C,

Ifli =0 < f=0ae < [f]>=0.

ii. For an integrable function f: I — C, if |flli = 0 or ||fll2 = O then
f(x) =0 for all x € T such that f is continuous at x.

11i. For a continuous function f: I — C,

[fli=0 < f=0 < |[f[2=0.

iv. For an integrable (or just bounded) function f: I — C,
[fllc =0 < f=0.
Proof  i. Follows from Facts A3.13 and A3.14.
ii. Follows from Proposition A3.16(i) (taking h = |f| or h = |f]?).
iii. Follows from (ii).
iv. Follows from the definition. (]

We've seen that || f||1, || f|l2 and ||f]|c are three different measures of the
size of a function f.

So, [|f = glli, IIf — gll2 and ||f — g]leo are three different measures of the
distance between functions f and g.

They genuinely measure different things! Look back at the opening para-
graphs of this lecture and Figure A.3.

We now consider the three resulting notions of convergence, plus two more.

13



Definition A4.6 Let (f,) be a sequence of integrable functions from I to C,
and let f be an integrable function from I to C. We say:

o fo— fin |- if [[fa — fllh = 0 as n — oo;

e f,— fin ||-||2 (or in mean square) if || f,, — f|l2 = 0 as n — oo;
o f, = fin | | (or uniformly) if || f,, — fllec = 0 as n — oo;

e f, — f pointwise if for all x € I, f,(z) = f(z) as n — oo;

o fn — fa.e. if for almost all z € I, f,(x) — f(x) as n — oo.

All five types of convergence are useful and meaningful.
We now work out the logical relationships between them. First, here’s some-
thing in common between the first three.

Lemma A4.7 Let |- | stand for || {1, [ +ll2 or || loe- If fo = f in ||| then
I fnll = IIf]l as n — oo.

Proof For all n, we have

[l = LA < N fn = £
by Lemma A4.3(iii), and similarly

I = 1fall < WF = full = [1fn = £1I,

SO

L1l = AT < Ml = £

But ||fn — fIl = 0as n — oo, so ||fall — || f]] = 0 as n — oo, as required. O

Here’s a classic fact from PAA:

Fact A4.8 Let f, f1, f2,...: I — C be functions such that f, — f uniformly.
Suppose that each f, is continuous. Then f is continuous, and fI fo(z)dz —
J; f(@)dx as n — occ.

In words: a uniform limit of continuous functions is continuous, and the integral
of a uniform limit is the limit of the integrals.

Now let’s begin to record the implications between the different types of
convergence.

Lemma A4.9 Let f, f1, fo,...: I — C be integrable functions. Then

fn — [ uniformly
= fn — f pointwise
= fn— f ae.

Proof Immediate from the definitions. O

We now restrict ourselves to the case I = [0, 1), since that’s what we’ll need
once we start to consider 1-periodic functions.
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Lemma A4.10 i. Let f:]0,1) — C be an integrable function. Then
11l < 1 ll2 < [ f]loo-
it. Let f, f1, fo,...:[0,1) = C be integrable functions. Then

= fo— fin| -

Proof  i. We prove ||f|l1 < ||f]|2 later. (Reader: fill in the reference once

we’ve got to it!) For the other inequality:

1 1
1fll2 = \//0 ()2 da < \//0 /113 dz = [ floo-

ii. Follows from (i) (with f,, — f in place of f). O

Remark A4.11 Here’s a summary of the implications:

Z N
Il l2 pointwise
7 N
- 11 a.e.
That is, || - ||co-convergence implies || - ||2-convergence, and so on. Uniform

convergence is the strongest type there is.
No further implications hold: there are examples of sequences of functions
that converge in || - ||; but not in || - |2, etc.
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A5 Periodic functions

For the lecture of 27 January 2014; part one of two

You know what it means for a function f on R to be l-periodic: f(x +1) =
f(z) for all . But in fact, there are at least three ways to think about a periodic
function: as a. ..

i. 1-periodic function R — C: W R

ii. function [a,a +1) - C
(for any a € R):

[a,a + 1) at1

iii. function T — C,

m—kl
=~

where T is the circle:

O

0

In (i), it’s best to think of the real line R as coiled up into a spiral of period
1, so that z,z £ 1,x £ 2, ... all lie on the same vertical line.

In (ii), it’s best to think of the interval [a,a+ 1) as bent round into a circle,
as shown. (The values of a we most commonly use are 0 and —1/2.)

The viewpoint in (iii) is ultimately the most satisfactory. To get from (i)
to (iil), think of pushing down on the coil to squash it into a circle. To get
from (ii) to (iii), join the two ends of the arc.

Formally, T is the quotient group R/Z. (In case you've forgotten what this
means, there is an equivalence relation ~ on R given by z ~y < x —y € Z;
then R/Z is the set of equivalence classes.) The elements of T are the elements
of R but with x regarded as the same as « +n in T whenever x € R and n € Z.
So,

...,—19,-0.9,0.1,1.1,2.1, ...

are all names for the same element of T. (Compare the fact that
...,—19,-9,1,11,21,...

are all names for the same element of Z/10Z, i.e. the same integer mod 10.)

There are one-to-one correspondences between functions as in (i), functions
as in (ii), and functions as in (iii). We will switch freely between the three
ways of thinking about periodic functions, but most often, we will adopt the
viewpoint of (iii).

We will also take for granted some easy lemmas about periodic functions,
e.g. that any linear combination or product of 1-periodic functions is again 1-
periodic.

Definition A5.1 A function T — C is continuous if the corresponding 1-
periodic function R — C is continuous.
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Note that a 1-periodic function f: R — C is continuous if and only if its
restriction f to [0,1) is continuous and HI{I f(z) = f(0). (Here HI{I means
r—1— 1

the limit as « tends to 1 from below.) To see why the second condition is needed,
consider the function f: R — C defined by f(z) = x — |z, where |z] is the
integer part of x:

P

-1 0 1 2

The restriction of f to [0, 1) is continuous, but f itself is not continuous, because

lim f(x) # f(0).

Definition A5.2 A function f: T — C is integrable if the corresponding
function f: [0,1) — C is integrable. We then define

1~ ~
/ﬂ@M:/J®M% 1l =17l ete.
T 0

Remarks A5.3 i. Definition A5.2 is unchanged if we replace 0 by a and 1
by a + 1, for any a € R.

ii. A little common sense is called for. When we say that a 1-periodic function
f: R — C is integrable, it does not mean that f itself is integrable! For
example, if f: R — C has constant value 6, then f is not integrable as
an ordinary function, but it is integrable as a 1-periodic function (and its
integral is 6). In practice, confusion shouldn’t arise.

Functions on a half-open interval can be continuous but not integrable, since
they might fail to be bounded by shooting off to oo or oscillating wildly near
the open end. But things are easier in the world of periodic functions:

Lemma A5.4 FEvery continuous, 1-periodic function is integrable.

Proof Let f: R — C be a continuous 1-periodic function. We have to prove

that its restriction f: [0,1) — C is integrable. We know that f is continuous,
so it is enough to prove that f is bounded. Indeed, fljp,1] is a continuous

function on a closed bounded interval, and therefore bounded; hence f |[0_,1) = f
is certainly bounded.

17



A6 The inner product

For the lecture of 27 January 2014; part two of two

You're familiar with the scalar product v.w of two vectors v, w € R™, defined
by v.w =, vw;. Sometimes this is written as (v,w). Perhaps you're familiar
with the complex version: given v,w € C", we put (v,w) = >, v;w;. There is
also a version for complex-valued functions:

Definition A6.1 Let f,g: T — C be integrable functions. We define

()= [ e s e
In order for this definition to make sense, we need to know that the function
f - g is integrable. Lemmas A3.4(iii) and A3.7 guarantee this.

Lemma A6.2 Let f,g,h: T — C be integrable functions, and let a,b € C.
Then:

i (9, ) = (f,9);
i. (af +bg,h) = a(f, h) +blg,h) and (f,ag + bh) =a(f,g) + b{f, h);
iii. (f,f) =13 =0.
Proof Sheet 1, q.6. (]

The properties of (-,-) stated in this lemma nearly say that it is an inner
product. All that prevents it from being one is that (f, f) = 0 does not quite
imply f = 0; it only implies that f = 0 almost everywhere (by Lemma A4.5(i)).
However, I will abuse terminology slightly by referring to (f,g) as the inner
product of f and g anyway.

Here are some further properties of (-, -).

Lemma A6.3 Let f,g: T — C be integrable functions. Then:
i [If +gl3 = I£13+ lgll3 + 2Re(f, g) (‘cosine rule’);
ii. if (£,9) =0 then |f + gl13 = 713 + lgll3 (‘Pythagoras’).
Proof For (i), use ||h||3 = (h,h). Part (ii) follows immediately. O

Here is the most fundamental result about the inner product.

Theorem A6.4 (Cauchy—Schwarz inequality) Let f,g: T — C be inte-
grable functions. Then

[(F: ) < N1 2llgll2-
Proof Sheet 1, q.6. g

Note the modulus sign on the left-hand side. Without it, the inequality
would not even make sense, since (f,g) is not usually a real number.

From this, we deduce that ||f + gll2 < ||fll2 + llgll= (Sheet 1, q.6 again; see
also Lemma A4.3). We also deduce the following, which completes the proof of
Lemma A4.10:
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Lemma A6.5 Let f: [0,1) — C be an integrable function. Then || fll1 < ||f]l2-

Proof Let us apply the Cauchy-Schwarz inequality to |f| and the constant
function 1. We have

L0 =A== 1A Wl =1,
giving [[f[lx < [[fll2- 1 = [[f]]2, as required. 0

There is a cousin of the Cauchy—Schwarz inequality that is also useful:

Lemma A6.6 Let f,g: T — C be integrable functions. Then

{0 < (I fll1llglloo-
Proof We have

(f )l = \ [ s

< / |f(2)9(@)| dz
- / F(@)] - |g(x)) dz < / F@)] - N9lloe dz = £l l1glloes
T T

using Lemma A3.9 in the first inequality. (|

Remark A6.7 (Non-examinable.) Both the Cauchy—Schwarz inequality and
Lemma A6.6 are special cases of a result known as Holder’s inequality, which
states that [(£.9)| < | flllgll, whenever 1/p+1/q = 1 (with 1 < p < oo,
1 < ¢ < o0). Here || f||, and ||g||, are defined as in Remark A4.2(iv).

Lemma A6.6 easily implies two more small results, both of which will be
useful later:

Lemma A6.8 Let f: T — C be an integrable function. Then |f|la <

VIl

Proof Put g = f in Lemma A6.6. ]

Lemma A6.9 Let f1, fo,..., f,g: T — C be integrable functions. Suppose that
fo—=>fasn—ooin | -||1. Then (fn,g) — (f,9) as n — oc.

Proof For each n, we have

|(frrg) = (Fo ) = [{fn = o) < 1 fn = fllallglloos

and ||fn — f]l1 = 0 as n — oo, so the result follows. O
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A7 Characters and Fourier series

For the lecture of 30 January 2014; part one of two

Among all periodic functions, certain ones are special. These are the so-
called ‘characters’. Fourier theory can be seen as an attempt to build all periodic
functions out of characters.

Let k € Z. We define e;: R — C by ex(z) = €2, This function is
1-periodic, so can be seen as a function e;: T — C, the kth character of T.

Remarks A7.1 i. The notation ej is not standard. No one outside this
class will know what you mean by ‘e;’ unless you define it.

ii. The apparently strange terminology ‘character of T’ will be put into con-
text in the very last part of this course.

Here are some elementary properties of the characters.
Lemma A7.2 Letk € Z and x,y € T. Then:
1. e 15 continuous;
it. |ex(x)] =1;
iii. ex(x +vy) = ex(z)er(y), ex(—x) =1/er(x), and er(0) = 1.

Note that in (iii), it does make sense to add and subtract elements of T,
because T is by definition a group (the quotient R/Z).

Proof Straightforward. O
Some further elementary properties:

Lemma A7.3 Let k., € Z. Then:
i. eppe =€ -ep, e_p=1/er, and eg = 1;

. e_f = €k,

iii. ey = el.
Proof Straightforward. O

We now come to a crucial property of the characters.

Lemma A7.4 The characters (ey)rez are orthonormal. That is, for k,l € Z,

1 ifk=1t,
ewed =0 irzr

Proof We have

1 1
<€k,64>:/E€k($)€g($) d:c:/o ek(ac)e_g(x)dw:/o ep—eo(z) dz,

using Lemma A7.3. If k = ¢ then the integrand is ey = 1, so (ex,e;) = 1. If
k # £ then

1

1 )
<€k,6g> _ |: : e27rz(k€):1::| =0,
2mi(k — 0) 0

as required. ([l
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You can think of the characters as analogous to the standard basis vectors
in R™ (which are also orthonormal). When we express a point of R™ in terms of
its coordinates, we are viewing it as a linear combination of the standard basis
vectors. Similarly, in Fourier theory, we seek to view any periodic function as a
linear combination of the characters. The analogy is not exact, because there
are infinitely many characters, so we have to take infinite linear combinations
of characters. This is what gives the subject its subtlety.

Here are the central definitions of this course.

Definition A7.5 Let f: T — C be an integrable function.

i. For k € Z, the kth Fourier coefficient of f is

f(k) = (f,ex).

ii. For n > 0, the nth Fourier partial sum of f is the function

Suf =Y f(k)er: T—C.

k=—n

iii. The Fourier series of f is the expression

Sf=Y f(kex

k=—oc0

Remarks A7.6 i. Explicitly,
1

fo = [ f@e i ke,
0

(Suf)@) = D f(k)™  (n>0, z€T),

k=—n
(SH) = > fk)e .
k=—oc0
ii. The Fourier series of fis Y ;- (f, ex)ex. Compare: if us,...,u, denote

the standard basis vectors of R™, then v = >";'_; (v.ug)uy, for all v € R™.
So, we might guess that f is ‘equal’ to its Fourier series (whatever that
means). The central question of this subject is whether, and in what sense,
this is actually true.

We finish by recording two basic properties of Fourier coefficients.
Lemma A7.7 Let k € Z. Then:
i. af/ﬁg(k) = af (k) + bg(k) for all a,b € C and integrable f,g: T — C.

. Let f1,fo,...,f: T — C be integrable functions such that f, — f as
n—o00in || -|1. Then f,(k) — f(k) as n — oo.

Proof Part (i) follows from Lemma A6.2, and part (ii) from Lemma A6.9. O
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A8 Trigonometric polynomials

For the lecture of 30 January 2014; part two of two

As we saw in the last section, Fourier theory asks whether a periodic function
[ can be expressed as a linear combination Sf = > f (k)ey, of characters
er. This is, in general, an infinite linear combination (whatever that means).
But to get started, it is useful to consider the finite linear combinations of
characters. These are called trigonometric polynomials.

Definition A8.1 A function g: T — C is a trigonometric polynomial if
there exist n > 0 and c_,,...,cq,...,c, € C such that g = EZZHL crer. The
degree of g is the least n for which this is possible.

Example A8.2 For any integrable f: T — C and n > 0, the nth Fourier
partial sum S, f =>"}_ f(k)ey, is a trigonometric polynomial of degree < n.

It is perhaps not obvious that the coefficients of a trigonometric polynomial
are unique. The next two results show that, in fact, they are.

Lemma A8.3 Let g =3 ,_ . crex be a trigonometric polynomial. Then

—n

~ o Ck Zf|k| S n,
ok) = {0 if |k > n

(keZ).

Proof We have

9(k) = (g, €x) < > Czee,€k> > cule,ex)
b=—n b=—n

o if =n<k<n
0 otherwise,

where in the last step we used the fact that the characters are orthonormal. [

Corollary A8.4 If >} cver = Y p__, drex then ¢ = di for all k €
{-n,...,0,...,n}. O

In other words, the characters are linearly independent.

Example A8.5 Let f: T — C be an integrable function. Then for all n > 0
and k € Z,

ST [f® kI <n
" o otherwise.

In other words, S, f and f have the same kth Fourier coefficients for |k| < n.
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Here is a baby version of the whole of Fourier theory.

Proposition A8.6 Letn > 0. Then the functions
{trigonometric polynomials of degree <n} = C?"*!

given by
g = (9(=n),...,9(0),...,3(n))
S Cker 4 (Copy €O Cn)
are mutually inverse.

Proof e Let g=>"}_ , crey be a trigonometric polynomial of degree < n.
We must show that g =Y, §(k)e,. This follows from Lemma A8.3.

e Let (c_p,...,cy) € C"Fland put g = > or__, crer. We must show that
g(k) = ¢ for all k € {—n,...,n}. This also follows from Lemma A8.3. O

Fantasy A8.7 We can fantasize about extending Proposition A8.6 to a pair of
mutually inverse functions

{nice functions T — C} = {nice double sequences in C}

given by R
A L) P
Yootk ()R

The rest of the course explores this fantasy.
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Figure A.4: Translating a function.

A9 Integrable functions are sort of continuous

For the lecture of 3 February 2014

Integrable functions are not necessarily continuous. However, integrable
functions do satisfy a continuity-like condition of a not-so-obvious kind, as fol-
lows.

Let f: T — C be a function. Given t € T, we obtain a new function

fG+¢): T—>C

defined by
x> flz+1).

Geometrically, this means shifting the graph of the function by ¢ units to the
left (Fig. A.4). (Or really, since T is a circle, it means rotating the graph by a
fraction ¢ of a revolution.) It’s not so hard to see (try it!) that

f is continuous <= f(-+1t) — f pointwise as ¢ — 0

—in other words, for each x € T, f(x +1t) — f(x) as t — 0. Similarly, it’s not
hard to see that

f is uniformly continuous <= f(-+1¢) = fin| | ast—0

—in other words, ||f(- +t) — fllco = 0 as t — 0. Obviously, neither condition
is satisfied by an arbitrary integrable function. However, it is true that for any
integrable function,

Fe+t) > fin| |l ast—o0. (A:4)

Proving this will take the rest of this lecture, and will require us to go right
back to the definition of integrability.

Here’s the plan. First we’ll introduce a class of particularly simple functions,
the so-called ‘step functions’. We’ll show that every integrable function can
be closely approximated by a step function. The proof of (A:4) for arbitrary
integrable functions f proceeds in two steps: (i) prove it for step functions
(which is relatively easy, as step functions are so simple); (ii) extend the result
to an arbitrary integrable f by approximating it with step functions.

Definition A9.1 Let I C R be a bounded interval. A step function is a
function f: I — C such that f = Y ,_, cxx, for some n >0, ¢1,...,¢, € C,
and bounded intervals Jy,...,J, C I.
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Figure A.5: A step function.

In other words, a step function is a finite linear combination of characteristic
functions of intervals.

Example A9.2 2x(g 3 — Xx[1,3) is a step function (Figure A.5).

Step functions are integrable, by Example A3.2(ii) and Lemma A3.4. Indeed,

/chXJk(x)dm: ch | Jk| -
Ik k

Of course, not every integrable function is a step function. However, there is
a sense in which every integrable function can be well approximated by a step
function. This is somewhat similar to the fact that arbitrary images can be
displayed on a computer screen, which is a grid of discrete pixels; the finer the
grid is, the better the quality of the display.

To make ‘well approximated’ precise, we introduce some more terminology.

Definition A9.3 Let I be a bounded interval, and let || -|| stand for ||- |1, || ||2
or || ||co. Let F be a set of functions I — C, and let G C F. Then G is dense
in F with respect to || - || if:

for all f € F, for all € > 0, there exists g € G such that ||f —g|| < e.

(You may be familiar with something like this definition from the theory of
metric spaces; for example, Q is dense in R.)

Proposition A9.4 Let I be a bounded interval. Then {step functions I — C}
is dense in {integrable functions I — C} with respect to || - ||1.

Proof We prove it just for I = [0,1), since this is the case that will matter
most to us and the proof for other bounded intervals is very similar.

First take a real-valued integrable function f: [0,1) — R, and let € > 0. By
definition of integration, we can choose a partition P of [0,1) such that

1
L(f,P) > / f(x)dz —e.
0
Here L(f, P) is the lower Darboux sum: if P is the partition
O=zp<z1< - <2, =1

and we put my = inf{f(x) : xp_1 < a < ap} (for 1 <k < n), then

n

L(f, P) = mi(wr — wx_1).

k=1
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Put Jy = [zp_1,2) and put

n
g = Z mEXJy-
k=1

(Draw a picture!) Then g is a step function, with L(f, P) = fol g(x)dz. We
have g(z) < f(z) for all z € [0,1), so

1 1
If — gl = / (f(z) — g(z)) dz = / f(x)dz — L(f.P) <&,

as required.

Now take an arbitrary integrable function f: [0,1) — C, say f = fi1+if2 with
fi1,f2:]0,1) = R. Let € > 0. By definition of integrability of complex-valued
functions (Definition A3.1(i)), f1 and fo are integrable. So by the previous
paragraph, we can choose step functions g1, g2: [0,1) — R such that

v =gl <e/2, [lfa = gallh < /2.

Put g = g1 +ig2: [0,1) — C, which is also a step function. Then

If =gl =(fi—g) +ilfa=g)lli <llfi—qrlli + If2 — g2l <e/2+e/2=¢
(using Lemma A4.3), as required. O

We are now ready to prove that integrable functions are ‘sort of continuous’,
in the sense of (A:4), following the plan described above.

Theorem A9.5 Let f: T — C be an integrable function. Then f(-+1t) — f in
- 1]x ast — 0 (that is, ||f(-+t) — fllL =0 ast —0).

Proof For the duration of this proof only, let us say that an integrable function
g: T — Cis ‘good’ if g(-+t) = gin || - || as t = 0. We will prove that every
integrable function is good.

First, for any interval J C [0,1), the characteristic function x; is good.
Indeed, write a = inf J and b = supJ. If a = b, or if a = 0 and b = 1, then
lIxs(-4+t) = xs]l1 = 0 for all ¢. Otherwise, we can show that

Ixs(-+1t) = xsll = 2]

whenever |¢| is sufficiently small (exercise; see Figure A.6). Hence ||x (- +t) —
XxJlli = 0ast— 0.

Second, every step function g: [0,1) — C is good. Indeed, if g = >"}_; kX,
(in the usual notation) then

n

ch{XJk(' +1) XJ,C}H1

k=1

n
< Z ler| Ix . (- + 1) — XJk||1
k=1

lg(-+8) =gl =

—0
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a—t q b—t b
Figure A.6: The area between a characteristic function and a translation of it

by a small distance ¢ is 2[¢|.

as t — 0, by the first part.

Finally, every integrable function f: [0,1) — C is good. Indeed, let £ > 0.
By Proposition A9.4, we can choose a step function g: [0,1) — C such that
IIf — glli < &/3. This implies that for all ¢ € R,

||f(~+t)*9('+t)lh:/TIf(xH)*g(wH)ldx
:/Tlf(y)*g(y)\dyzl\ffglll <e/3,

where the second equality is by substitution. (Intuitively, the area between the
graphs f and ¢ is unchanged if we shift everything horizontally by ¢.) Also,
by the second part, we can choose § > 0 such that for all ¢ € (=0, ), we have
llg(- +t) — gll1 < &/3. Now for all t € (—4,d), we have

IFC+8) = fllh <IFC+8) —gC+ Dl +llg(+8) — gl +1lg = fla
<e/3+4+¢/3+¢/3=c¢,

as required. (I

27



Chapter B

Convergence of Fourier
series in the 2- and 1-norms

In this chapter, we’ll prove:

for any integrable function f: T — C, the Fourier series of f con-
verges to f in both || - ||z and || - ||1.

It’s as simple as that. Compare the long and complicated saga of pointwise
convergence recounted in Section A2. In contrast, this result is clean, easily
stated, and not too difficult to prove.

The 2-norm will play a much greater role than the 1-norm in this chapter. Be-
cause |- ||2 goes hand in hand with inner products (recalling that || f||2 = (f, f)),
working in the 2-norm has a great deal in common with ordinary Euclidean ge-
ometry. It’s the most easily visualized context to work in.

Bl Nothing is better than a Fourier partial sum
For the lecture of 6 February 2014; part one of two
The title of this section is made precise by part (i) of the following lemma,

illustrated in Figure B.1. Recall that given an integrable function f, its nth
Fourier partial sum S, f is a trigonometric polynomial of degree < n.

Lemma B1.1 Let f: T — C be an integrable function, and let n > 0. Then:

i |f=Snfll2 < |If —glla whenever g is a trigonometric polynomial of degree
<n.

ii. |F13 = 1S flI3 +11f = Sufll3-
iii. ||Snf13 = She_ If (R,

Proof Before we prove any of the three parts, we show that (f — S, f,h) =0
for all trigonometric polynomials h of degree < n. (Figure B.1 makes this look
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trig Polys of deg =
Sn

Figure B.1: Approximating a function f by a trigonometric polynomial of degree
<n.

plausible.) Indeed, by linearity, it is enough to prove this when h = e, for some
ke{-n,...,0,...,n}, and

(f = Sufrex) = (frex) — (Sufoer) = f(k) — Suf(k) =0

by Example A8.5, as required.
Now let g be a trigonometric polynomial of degree < n. By what we have
just shown, (f — S, f,Snf —¢g) =0, so

1f = gll3 = I(f = Snf) + (Suf = 9)lI3
= |If = Sufl3 +1Suf — gli3 (B:1)
by Pythagoras (Lemma A6.3(ii)). Part (i) follows, then part (ii) by putting

g =01in (B:1).
For part (iii), we have

where the first two equalities use Lemma A6.2 and the third uses the orthonor-
mality of the characters (Lemma A7.4). O

To elaborate a little on the title of this section: among all trigonometric
polynomials of degree < n, nothing approximates f better than the Fourier
partial sum S, f.

Proposition B1.2 Let f: T — C be an integrable function. Then:
i Y| (k)

ii. (Riemann—Lebesgue Lemma,) f(k) — 0 as k — +oo.

|2 converges; indeed, ZZOZ_OO|f(k)|2 < |If13.
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Proof By parts (ii) and (iii) of Lemma B1.1, we have Y ,_ IF(R)2 < |IFII2
for all n > 0. The results follow. O

The Riemann-Lebesgue lemma tells us that not every double sequence
(ck)7 _o of complex numbers arises as the sequence of Fourier coefficients of
some function. This is already a substantial result. Looking back again at
Fantasy A8.7, we begin to get a sense of what a ‘nice’ double sequence might
be.

The next lemma will help us to prove that (S, f) always converges to f in
the 2-norm.

Lemma B1.3 Let f: T — C be an integrable function. The following are equiv-
alent:

i Spf = fan |- |2;
ii. gn — [ in ||+ ||2 for some sequence (g,) of trigonometric polynomials.

Proof (i) = (ii) is trivial, since each S, f is a trigonometric polynomial.
For (ii) = (i), let € > 0. Choose m such that ||f — gm|l2 < €. Put N =
deg(grm). Then
e> f = gmllz = |If — Sn fll2,

using Lemma B1.1(i) in the second inequality. But then

lf = Snfll2 > IIf = Sn+1fll2

by Lemma B1.1(i) again, noting that Sy f has degree < N + 1. Continuing like
this, we find that

e>|lf =Snfll2 2 If = Snafll2 2 If = Sns2fll2 = -+,
and in particular, ||f — S, f]l2 < e for all n > N. O

Our strategy for proving that S, f — f in || - |2 will be to prove that g, — f
in || - ||2 for some other sequence (gy,) of trigonometric polynomials—a sequence
that is easier to work with than (S, f) itself.

In order to carry out this strategy, we need to come up with some convenient
sequence (g,) of trigonometric polynomials. How can we cook up new trigono-
metric polynomials? By convolution, as we’ll see in the next two sections.
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B2 Convolution: definition and examples

For the lecture of 6 February 2014; part two of two

You've already met convolution of functions on R. Convolution of functions
on T, which is what we’ll mostly be concerned with, is very similar.

Definition B2.1 Let f,g: T — C be integrable functions. The convolution
f*g: T — C is the function defined by

v) = / f(Hgle —tydt

Remark B2.2 Recall from Section A5 that the circle T is a group (the quotient
R/Z). The group operation is addition mod 1. So, it does make sense to add
and subtract elements of T, as we did in the definition of convolution.

(x €eT).

Our first example of convolution is important enough to be stated as a
lemma.

Lemma B2.3 For any k € Z and integrable function f: T — C,

frew=(feryex = f(k)e.
Proof For all x € T,

(f  ex)(a /f Jer(z —t)d

by Lemmas A7.2 and A7.3. (I

This is remarkable. It tells us that when we convolve a character e; with
anything (anything!), the result is a scalar multiple of eg. This is a very special
property of the characters.

Convolution has a smoothing effect. For the purposes of the following ex-
ample, let us consider functions on R rather than T.

Example B2.4 Given an integrable function f: R — C, we have
z+1/2
(f * X[71/2,1/2])(9C) = / f(t)dt.

x—1/2

This is a ‘moving average’ of f: the value of f * x[_1/2,1/9) at x is the mean
value of f over the interval [z — 1/2,x + 1/2] (Figure B.2).

31



Figure B.2: Convolution has a smoothing effect.
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B3 Convolution: properties

For the lecture of 10 February 201/4; part one of two

Example B2.4 showed the smoothing effect of convolution. In that particular
example, the convolution of two discontinuous functions was continuous. This
surprising behaviour is, in fact, a completely general phenomenon:

Lemma B3.1 Let f,g: T — C be integrable functions. Then their convolution
f*xg: T — C is continuous.

This is far stronger than we might have guessed in advance. It’s not merely
true that the convolution of two integrable functions is integrable, or that the
convolution of two continuous functions is continuous. In fact, for any two
integrable functions f and g, no matter how discontinuous they may be, f * g
is continuous.

Proof Let x,h € T. Then

|(f xg)(x+h)— [gx +h—t)—g(x—t)]dt

< / £Ollgle+h—1) - glo— D] dt  (B:2)
T
<l [ lota+ =) =gl = 1)

= I/llso / g+ h) — g(w)| du (B:3)
T

= 11 lloo llg(- + 1) — gl

—0ash—0. (B:4)

Here (B:2) is by the triangle inequality for integration (Lemma A3.9), equa-
tion (B:3) comes from substituting v = = — ¢, and (B:4) is by Theorem A9.5
(‘integrable functions are sort of continuous’). ]

Here are some basic properties of convolution. In future, we will use them
without explicitly referring back to this lemma.

Lemma B3.2 Let f,g,h: T — C be integrable functions, and let ¢ € C. Then:
i frg=gxf;
i. (fxg)xh=fx(gxh);

ji. fx(g+h)=(f*g)+(f*h);
iv. £+ (cg) = c(f +g).

Proof For (i), let x € T. Then

(f *0)a /f (x—1)d
/fwfu

(9% f) (),
by substituting u = x — . The other parts are similarly straightforward. (Il

7

<
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Remark B3.3 This lemma tells us that 4+ and * give the set
{integrable functions T — C}

the structure of a ‘commutative algebra’ over C, that is, both a vector space
over C and a ring.

Or nearly. The only missing part is that it has no multiplicative identity.
Nowadays, the definition of ‘ring’ is usually taken to include the existence of a
multiplicative identity; but in analysis especially, there are important rings that
do not have one.

We'll see very soon that if the identity did exist, it would be the mythical
‘delta function’.

Lemma B3.4 Let f: T — C be an integrable function, and let g: T — C be a
trigonometric polynomial. Then f * g is a trigonometric polynomial.

Again, this is stronger than might be expected. It’s not merely true that
the convolution of two trigonometric polynomials is a trigonometric polyno-
mial. In fact, the convolution of anything with a trigonometric polynomial is a
trigonometric polynomial.

Proof We may write g = Zzzin ciey for some n > 0 and ¢, € C. Then

Frg="Y alfrer) =D (crf(k))ex,
k=—n k=—n
which is a trigonometric polynomial. Here the second equality uses
Lemma B2.3. (]

Remark B3.5 This lemma says that {trigonometric polynomials} is an ideal
in the ring {integrable functions T — C}.

Example B3.6 Every Fourier partial sum of a function f is a convolution of
f with a trigonometric polynomial. More exactly, using Lemma B2.3 again,

n

Spf = Z fk)er = Z frep=f* Zek.

=—n k=—n k=—n

Since Y7 _ . ey is a trigonometric polynomial, Lemma B3.4 tells us in this case
that S, f is also a trigonometric polynomial—which of course we already knew.

Since Fourier partial sums are important in Fourier theory, this example
suggests that > ,_ ey is also important. It is, and it has its own name:

Definition B3.7 Let n > 0. The Dirichlet kernel of order n is D, =
ZZ:_,” €L.

So, Example B3.6 can be restated as:

Lemma B3.8 S,,f = f x D,,, for all integrable f: T — C and n > 0. O

Remark B3.9 We can dream of taking n — oo in Lemma B3.8, so that
Sf = f* Dy where Doy = > 07 ex. However, the sum Y oo e does
not, converge anywhere, so D, does not really exist.
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Here are two further properties of convolution.

Lemma B3.10 For integrable functions f,g: T — C,
1 * glloo < I fllocllgll1-

Proof For all x € T,
(F * 9)(@)] = ] [ o= 040 dt’
< / 1 — 1) (o)) dt
< 1l / lo(®)]dt = |7l gl 0

The final property should remind you of an important fact about Fourier
transforms.

Lemma B3.11 Let f,g: T — C be integrable functions, and let k € Z. Then

—

frgll) = f(k)a(k).

Proof Sheet 2, q.5. (]
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—£/2 | g/2

Figure B.3: Approximation to the mythical delta function.

B4 The mythical delta function

For the lecture of 10 February 201/4; part two of two

This short section is largely intended as motivation for the rest of Part B. It
contains no definitions or theorems, but the ideas are important for what follows.
Fact: there is no integrable function 6: T — C such that

for all continuous f: T — C, /Tf(z)é(:z:) dx = f(0). (B:5)

(Compare Sheet 1, q.5.) But we can get close. Non-rigorously, for a ‘small’

€ > 0, put
1
AE = gX[75/2,s/2]: [_1/27 1/2) —C

(Figure B.3). Then for any continuous function f: T — C,
1 e/2 1 e/2
[i@a@d =1 [ f@dex [ f0)de= 100,
T € J—¢/2 € J_g/2

using continuity in the approximate equality.
Imagine now that there is a function ¢ satisfying (B:5).
Let f: T — C be a continuous function. Then

fxé=1,

since

(f *8)(x) = /T flx— 08ty dt = f(a —0) = f(z)

for all x € T. (So ¢ is an identity for convolution with continuous functions;
compare Remark B3.3.)

If 0 was actually a trigonometric polynomial, then the equation f *§ = f
together with Lemma B3.4 would imply that every continuous function f was
a trigonometric polynomial. This is obviously false.
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If § is merely a limit of trigonometric polynomials K, say K,, — 0 in || - |2,
then perhaps it follows that f* K, — f*§ in | -||2. In that case, we would have
f*K, — fin| 2. Lemma B1.3 would then imply that S,f — f in | - ||2.
This is the result we’re aiming for.

We know that no J satisfying (B:5) exists. However, the previous paragraph
suggests a strategy:

Look for a sequence (K,,) of trigonometric polynomials such that
for all continuous (or even integrable) functions f: T — C,
f*K,— fin]-|e.

Our fantasies about the delta function suggest that the sequence (K,) should
somehow ‘converge to ¢’. So, the plan now is to look for such a sequence (K,),
and show that it does what this informal chain of reasoning leads us to hope it
will.
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~1/2 - 5 1/2

Figure B.4: Axiom PADS3 states that for large n, the shaded area is small.

B5 Positive approximations to delta

For the lecture of 138 February 2014

The last section culminated in a plan: to show that S, f — f in || - ||2 for all f,

e look for a sequence (K,) of trigonometric polynomials that in some sense
‘converges to the (non-existent) delta function’; then

e show that f* K, — fin || - |2 for all f.

We'll carry out this plan. In this section, we give a precise meaning to the
phrase ‘converges to the delta function’. We also show that if (K,) has this
property, then f x K,, — f in || - |2 for all f. Actually finding such a sequence
(K,,) is left until later.

Definition B5.1 A positive approximation to delta (PAD) is a sequence
(Kn)5e, of integrable functions T — R such that:

PAD1 for all n > 0 and ¢t € T, we have K, (t) > 0;
PAD2 for all n > 0, we have [ K, (t)dt = 1;

PAD3 for all § € (0,1/2), we have lim K, (t)dt =0.
n— oo

f5<|t\§1/2

Remarks B5.2 i. PAD2 is inspired by the thought that if [, 6(¢)f(t)dt =
£(0) for all continuous f (as in the previous section), then in particular
this is true when f is the constant function 1, giving [, 8(t) dt = 1.

ii. In PAD3, the ‘6’ mentioned is a real number, not the delta function!

iii. PAD2 tells us that the area under the graph of K, is always 1. PAD3 says
that as n gets larger, that area gets concentrated into an ever-narrower
strip around the y-axis (Figure B.4).

iv. For this part of the theory, it’s convenient to view functions on T as
functions on [—1/2,1/2).
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v. The name ‘approximation to delta’ is non-standard. The usual name is
‘approximation to the identity’, since delta is the (non-existent) identity
for convolution.

vi. Almost every definition in this course is conceptually well-motivated. This
one, however, is not. The conditions PAD1-3 are just what is needed in
order to make the arguments work. (Other variants are possible.) How-
ever, it’s only a stepping stone, which we’ll use to reach theorems that are
clean and free of arbitrary conditions.

Examples B5.3 i. (nX[_1/2n71/2n))ZO:1 is a PAD. (Check!) A typical ele-
ment of this sequence is shown in Figure B.3, taking ¢ = 1/n.
il. (D)5, is not a PAD. First, it fails PADI, since (for instance) D1 (1/2) =
—1 < 0. More seriously, it can be shown that ||D,|1 — oo as n — oo,
whereas if (K,,) is a PAD then

IKalls = / Ko(t) dt = 1 (B:6)

for all n (by PAD1 and PAD2).

The rest of this section is devoted to showing that when (K,) is a PAD,
f* Ky, — fin |- |2 for any integrable f. The proof is quite delicate.

The first step is to prove the weaker result that f« K,, — fin || -|1. (To
see why it’s ‘weaker’, recall Lemma A4.10.)

Proposition B5.4 Let (K,,)52, be a PAD and let f: T — C be an integrable
function. Then f* K, — f in| |-

Proof We begin by finding an upper bound for ||f * K,, — f]1.
For all z € T and n > 0,

1/2

|(f * Kn)(2) — f2)] = ‘/ (f(z = 1) — f(2)) Kn(t) dt

—1/2
1/2

< / F(z— ) — F(@)| Kn(t) dt,
—1/2

using PAD2 in the first line and PAD1 in the second.

(The idea now is roughly as follows. Let ¢ > 0 be small. Then |f(z—t)— f(x)]
is small for |t| < 4, at least if f is sort of continuous. Also, K, (¢) is small for
[t| > §, since K, is something like the delta function.)

It follows that for all z € T, n > 0 and § € (0,1/2),

|(f * Kn)(2) — f(2)]
< /t|<6 ‘f(fﬂ 775) - f(CE)|Kn(t) dtJr/ ‘f(.’ﬂ ft) _ f(CC)|Kn(t) dt,

0<[t|<1/2

so by the triangle inequality,
[(f % Kp)(x) — ()]
< /t|<5f(a?—t)_f($)|Kn(t) dt—|—2|\f||oo/ K, (t) dt. (B:7)

o< |t|<1/2
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Integrating (B:7) with respect to x shows that for all n > 0 and ¢ € (0,1/2),
1f * K — flly

1/2
S/ /|t<6|f(x—t)_f(x)|Kn(t)dtdx+2|f||oo/ Ko(t)dt (B:S)

—-1/2 o< |t|<1/2

— [ W=t K@ de 2l [ Kt (B:9)
[t]<6 0<[t|<1/2

(To get (B:8), we used the fact that 2| f|| f5<|t|§1/2 K, (t) dt is independent of

x, so that integrating it with respect to x over an interval of length 1 leaves it
unchanged.)

We now prove convergence. Let € > 0. By Theorem A9.5 (‘integrable

functions are sort of continuous’), we can choose ¢ € (0,1/2) such that for all

€ (=0,9), |[f(-—=1t)— fll <e/2. By PAD3, we can then choose N > 0 such

that for all n > N,
€
K,(t)dt < ——.
/6<|t§1/2 4Hf||oo

So by (B:9), for all n > N,

€ €
If* Kn = fl1 < 5 K (t) dt + 2| flloo 77—
2 Jit<s Al flloo
e [/? €
<= K,(t)dt+ = (B:10)
=g, (B:11)
using PADI in (B:10) and PAD2 in (B:11). O

We now know that f* K,, — f in || - ||; for any integrable f. It is relatively
easy to deduce the stronger result that f « K, — f in | - ||2. The key is
Lemma A6.8, which gives an upper bound on the 2-norm in terms of the 1- and
0O-NOrmS.

Proposition B5.5 Let (K,)5°, be a PAD and let f: T — C be an integrable
function. Then fx K, — f in |- .

Proof For all n > 0, we have

1S * Knlloo < Ifllco[Enllt = [ flloo
by Lemma B3.10 and (B:6). So for all n > 0,

1f # Kn = flloo < IS * Knlloo + [ flloc < 2[1flso-

(Idea: we now have control over the oo-norm of (f * K, — f). The previous
proposition gives us control over its 1-norm. Putting them together will give us
control over its 2-norm.)

Hence for all n > 0, using Lemma A6.8 and Proposition B5.4,

< VI * K — flli V20 flloo

— 0 asn — oo. |
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B6 Summing the unsummable

For the lecture of Monday 24 February 2014

Before I explain the title, recall: we’re looking for a sequence Ky, Ki,... of
trigonometric polynomials that approximate the mythical é function increas-
ingly well.

How can we find one?
Idea If § existed, its Fourier coefficients would be given by
8(/{) _ / 5(t)6—27rilct dt = e—27rik0 =1
T

for all k € Z, and so S, = Zzzin er = D,. If also S,,6 — § as n — oo, then
D,, — 4. Since D,, is a trigonometric polynomial, we might try K,, = D,.

Problem (D,) is not a PAD, as noted in Example B5.3(ii). Also, the sequence
(D)5, does not converge in any of our usual five senses. In other words,
> re o €k is thoroughly unsummable.

So, we want to be able to sum unsummable series. This sounds impossible,
but it’s not: you just need to be more generous about what ‘summable’ means.
To explain this, it’s useful to step back from our particular problem—indeed,
step back from Fourier analysis entirely—and think about the general question:
how can we sum a divergent series?

Example B6.1 The series

(oo}

D) =1-141-1+--

n=0

does not converge, since the partial sums Sy = Zf:;o(—l)" are
So=1, S1=0, Se=1, S3=0, ...,

and the sequence (Sn) does not converge.
Nevertheless, there are non-rigorous ways of evaluating S = > (—1)".
For instance:

i. Alice thinks that
S=1+-1)+1+-1)+1+-1)+---=04+04+0+---=0.
Bob thinks that
S=1+(-1+1)+(-1+1)+---=140+0+---=1.

Alice and Bob agree to split the difference, and so conclude that S = 1/2.
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ii. Consider two copies of S lined up in columns:

285=(1-1+1-1+--+)
+(1-1+1---+)
=140+0+0+---
=1.

So S = 1/2, the same answer as obtained by Alice and Bob.

iii. Apply the formula for the sum of a geometric series (even though it’s
invalid, as that formula requires the ratio to have modulus strictly less
than 1):

1
521—7(—1):1/2'

Again, this is the same answer.

Those three methods were just for fun. Each of them can actually be made
respectable, but I won’t show you how. Instead, here’s a fourth way, which is
the one that will matter to us the most.

iv. The sequence of partial sums (1,0,1,0,...) doesn’t converge, but it oscil-
lates evenly around 1/2. The centre of mass is 1/2, if you like. Since a
centre of mass (or centroid) is a mean, this suggests considering the mean
of all the partial sums so far.

Put
1

“N+1
A short calculation shows that

A {§+2(N1+1) if NV is even,
N:

AN (So+"'+SN).

if N is odd.

=

So limy 00 Ay = 1/2, as expected.
There is some general terminology for this fourth method.

Definition B6.2 i. Let (sp)5%, be asequence in C. Its Nth Cesaro mean
(N >0)is

an (so+--+sn)eC.

T N+1
If ay — s as N — oo, we say that s is the Cesaro limit of (s,).

ii. The Cesaro sum of a series Y, is the Cesaro limit of the partial
N el
sums Sy = n—p Tn, if it exists.

We have just seen an example of a series that is Cesaro-summable but not
summable in the usual sense. Now we show that the method of Cesaro sum-
mation extends the method of ordinary summation, in the sense that if the
ordinary sum exists then so does the Cesaro sum, and the two sums agree.

Proposition B6.3 i. Let (sn)22, be a sequence in C, and let s € C. If s is
the limit of (s,) then s is also the Cesdro limit of (sy).
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ii. Let Y " x, be a series in C. If the sum exists, then the Cesaro sum
exists and is equal to Y xy,.

Proof We prove (i); then (ii) follows immediately.
Let an be the Nth Cesaro mean of (s,). For all N > 0,

(so—8)+ -+ (snv—9) < [so —s|+ -+ |sny — ]
N+1 - N+1 '

lay — s =

(The idea now: we want |ay — s| to be small. Let L be a large integer. Then

|sn — s| is small when n > L, and |S°_S‘+'J§ills“1_s‘ is small when N is much
greater than L, since the numerator does not depend on N.)

Let € > 0. Since s,, = s, we can choose L such that |s, — s| < &/2 for all
n > L. We can then choose an integer

2
M > maX{L, f(\so — 8|+t spo1 — 5|) - 1}.
5

For all N > M,
a 7S|<|30_3|+"'+|5L71_3| |sp —s|+ -+ |sy — s
Nl = N+1 N+1
(e/2)(M +1) n (N—-L+1)(¢/2) (B:12)

SNt N+1
< (e/2) +(¢/2) =,

where in (B:12), we used the definition of M in the first summand and the
definition of L in the second. O

Remark B6.4 The partial sums D,, = Zzzfn ey, are too wild to form a PAD.
The proposition we have just proved suggests that the Cesaro means ﬁ(DO +
-+ -4 Dy) might be tamer. It turns out that they are; indeed, they form a PAD.
This will allow us to complete the plan described at the beginning of Section B5,
thus proving that in the 2-norm, Fourier series always converge.
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B7 The Fejér kernel

For the lecture of Thursday 27 February 2014; part one of two

At the end of the last section, we expressed the hope that although the Dirichlet
kernels D,, do not form a PAD, perhaps their Cesaro means
1

—— (Dg+---+D,
n+1( o+t + )

do. Here we show that this is indeed the case.

Definition B7.1 Let n > 0. The Fejér kernel of order n is

F, = %H(DOJF---JFD”): T — C.

Note that the Fejér kernel, like the Dirichlet kernel, is a trigonometric poly-
nomial.

Way back in Section Al, we abandoned the sine-and-cosine formulation of
Fourier series, choosing to work with the more elegant exponential formulation.
But it will be useful to have expressions for D,, and Fj, in traditional trigono-
metric form.

Lemma B7.2 Letn >0 and 0 £t € T. Then

sin((2n + 1)~t) 1 sin®((n + 1)mt)
Fa(t) = n+1 sin? mt

Da(t) = .

sint

Proof We have

n

Dn(t)= > el(t)”.

k=—n
Since t # 0, we have e1(t) # 1, and we may therefore apply the formula for
summing a geometric series. After some routine algebra, we get
el(t)n+1/2 —e (t)—(n+1/2)
e ()12 — ey (t)-1/2

Da(t) = (B:13)

Noting that ey (t)* = ¢?™ and applying the formula ¢’ = cosf + isin 6, we
obtain the result on D,,(t).

We now use a trick: multiply the top and bottom of (B:13) by the bottom.
This gives
[el(t)n+1/2 o el(t)f(n+1/2)} [el(t)1/2 o el(t)71/2]

[el(t)1/2 _ el(t)*l/Q]Q
[e1 ()"t + er () D] — [er ()" + e () "]
[el(t)1/2—el(t)*1/2}2 .

D,(t) =
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So for any N > 0, the sum ZnN:O D,,(t) telescopes, giving

) )
n=0 le1(t)1/2 — el(t)*l/Q]Q
[eq ()N /2 — el(t)*(N+1)/2]2
[ea()1/2 — ex(t)=1/2]"
[2isin((N + 1)7t))?
[2isin(7t)]?2 7

iD (t) [ex()N ! + ea (t) "N D] — [ea (1) + ea(t) "]

hence the result on Fi (). O

This explicit formula helps us to prove our main result on the Fejér kernel.

Proposition B7.3 (F,,)%2, is a PAD. In particular, there is a PAD consisting
of trigonometric polynomials.

Proof PAD1: By Lemma B7.2, Fiy(¢) > 0 for all N and t.
PAD2: First, [ Dy(t)dt =1 for all n, since

n

/TD,L(t)dt: (Dureo) = 3 {epreo) = 1.

k=—n

Hence

/TFN(t)dt_]\firl</TD0(t)dt+~-~+/TDN(t)dt)

1
- (1+.---+1)=1.
N—i—l( + +1)

PAD3: Let 6 € (0,1/2). We must prove that

lim FN(t) dt = 0.

oo Js<t|<1/2

We use the fact that sin > 26 for all § € [0,7/2]. (This can be proved using
convexity; see Figure B.5.) Now

1/2 ;2
/ Fy()dt = —> / S (V1 Dmt) (B:14)
s<|t|<1/2 N+1 /s sin® 7t
2 12
< dt B:1
SNl /5 20)? (B:15)
1 1
sl (5 - 2) (B:16)
—0as N — oo. (B:17)

Here (B:14) follows from Lemma B7.2 and Fy being even, (B:15) is because
sin®((n+ 1)mt) <1 and [sinnt| > 2 - 7it, and (B:16) is a routine calculation. O
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sin 6

0 /2

Figure B.5: sing > 26 for all 6 € [0, 7/2].
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B8 The main theorem

For the lecture of Thursday 27 February 2014; part two of two

We can now prove the main theorem of Part B. It states that Fourier’s idea
works perfectly when we use the 2- or 1-norm.

Theorem B8.1 Let f: T — C be an integrable function. Then S,f — f in
both || - ||l2 and || - ||1-

Proof For all n, the Fejér kernel F,, is a trigonometric polynomial, so f x F,
is a trigonometric polynomial (Lemma B3.4). Also, (F},) is a PAD (Proposi-
tion B7.3), so f« F,, — fin || - ||2 (Proposition B5.5). Hence f is the limit in
|- |2 of a sequence of trigonometric polynomials. So by Lemma B1.3, S,,f — f
in || - ||2. Finally, by Lemma A4.10, S,,f — f in || - ||1. d

Corollary B8.2 The set {trigonometric polynomials} is dense in {integrable
functions T — C} with respect to both || - ||2 and || - ||1-

Proof This follows from Theorem B8.1, noting that the Fourier partial sums
S, f are trigonometric polynomials. O

In other words, if f is a point in the space of all integrable functions on
T, then there are trigonometric polynomials arbitrarily close to f. (Compare
Proposition A9.4 on step functions.)

Theorem B8.3 (Parseval) Let f: T — C be an integrable function. Then

Proof S,f — fin||-[l2, 50 [|Syflla — [/ f]l2 by Lemma A4.7, s0 [|S, f[13 — || f]3-
But

P NT
IS fl3 =" [F(k)]
k=—n
by Lemma B1.1, so the result follows. ]

In a suitable sense, Parseval’s theorem says that the map f +— f is an
isometry (distance-preserving). It is also angle-preserving:

Corollary B8.4 Let f,g: T — C be integrable functions. Then

/T f@g@de =S k)3,

k=—oc0
Proof Sheet 3, q.5. O

Finally, the map f — f is, essentially, injective:
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Corollary B8.5 Let f,g: T — C be integrable functions such that f(k) = g(k)
for all k € Z. Then:

. f=gae;
ii. f(x) = g(z) for all x € T such that f and g are both continuous at x;

1. f =g if f and g are both continuous.

Proof We have f/—\g(k) = 0 for all k € Z (using Lemma A7.7(i)), so || f—g|l2 =
0 by Parseval’s theorem. All three parts now follow from Lemma A4.5. d

This result does not mention the 2-norm (or indeed any norm) in its state-
ment, although it does use the 2-norm in its proof. It answers a very fundamental
question about Fourier series, telling us:

Different functions have different Fourier series.

Here ‘different functions’ must be understood as ‘functions that are not almost
everywhere equal’, since it’s a basic fact that if f = ¢ a.e. then f and g have
the same Fourier coefficients; see A3.13.

This encourages us to believe in Fantasy A8.7.
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Chapter C

Uniform and pointwise
convergence of Fourier
series

In Remark A4.11, we met this diagram:
Il oo

Il ll2 pointwise

Z N

Il |l a.ce.

Part B covered the lower-left region of the diagram: convergence of Fourier series
in the 2- and 1-norms. In Part C, we look at the upper-right region: uniform
and pointwise convergence. (We will never look seriously at almost everywhere
convergence.)

Cl1 Warm-up

For the lecture of Monday 8 March 2014; part one of two

In Part B, we showed:
for all integrable f: T — C, S,f — fin | |2 and |- 1.

Is it also true in || - ||oo?

No, since if S,,f — fin || - ||eo then f is continuous (by Fact A4.8), whereas
not every integrable function is continuous.

But this leaves open the possibility that:

for all continuous f: T —C, S,f — fin| | c-

However, this is not true either. By du Bois—Reymond’s example (Theo-
rem A2.2), there is some continuous f: T — C such that S, f does not even
converge pointwise to f, let alone uniformly.
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So if we’re hoping for all Fourier series to converge in either the uniform or
pointwise sense, we’ll be disappointed. But perhaps it’s true if we dilute our
hopes, asking only for convergence almost everywhere. In other words, we might
hope that:

for all continuous f: T — C, S, f — f almost everywhere.

This is true, by Carleson’s theorem (Theorem A2.6). But as previously men-
tioned, all known proofs are much too hard for this course.

However, there are some easier results available. For example, we will be
able to prove the theorem of Dirichlet that if f is continuously differentiable,
then S,f — f uniformly (hence in all five senses). We will also look at an
application that seems to have nothing to do with Fourier theory: the so-called
equidistribution theorem of Weyl, concerning the statistical behaviour of mul-
tiples of irrational numbers.

We begin by collecting a few basic facts.

As described in Fantasy A8.7, the theory of Fourier series is about the back-
and-forth between functions on T and doubly infinite sequences. So far, we have
concentrated on the passage in one direction, starting with a function f on T

and deriving the double sequence (f(k))gez. Let us now consider the opposite
direction. Write

C? = {double sequences ¢ = (c)3_,, in C}.

Lemma C1.1 Let ¢ € CZ. Then

[ee]
Z lex| < 00 = Z lek|? < oo = sup|cx| < oo
keZ

k=—o0 k=—o0

(This should remind you of the situation with convergence in the 1-, 2- and
oo-norms—but it’s the other way round. Notice that squaring a small positive
number decreases it.)

Proof For the first implication, suppose that > p- _|cx| < co. Then certainly
the set {|cx| : k € Z} is bounded; put ||¢|lcc = Supyez |ck|. For all n > 0, we

have
n n oo
S el <llelloe Y lenl < llelloe > ekl

k=—n k=—n k=—o0

o0 2
SO D il oo lek|® < oo.
For the second implication, if > p— _|cx|> < oo then {|cx|?> : k € Z} is
bounded, so {|ck| : k € Z} is bounded too.

Remark C1.2 No further implications hold. To see that the converse of the
first implication fails, consider

1/k ifk>1
C =
0 if £ <0.

To see that the converse of the second implication fails, take ¢, = 1 for all k.
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Here is another basic fact. It is about convergence in the 1-norm, but will
be useful for arguments about uniform and pointwise convergence.

Lemma C1.3 Letc € CZ and let f: T — C be an integrable function. Suppose
that >y, cker — fin || - |1 asn — oo. Then ¢, = f(k) for all k € Z.

Proof For each n > 0, write g, = > ,__, cxex. Let £ € Z. By Lemma A7.7(ii),
gn(0) = f(£) as n — oco. But by Lemma A8.3, g5(¢) = ¢; whenever n > |/], so
ce = f(0), as required. a

We can now answer a subtle question that has been present from the begin-
ning. Can it happen that the Fourier series of f converges, but not to f?7 For
convergence in the uniform sense, no.

Lemma C1.4 Let f: T — C be an integrable function. Suppose that the se-
quence (S, f)o, converges uniformly (not necessarily to f). Then:

i. (Snf)(x) — f(z) for almost all z € T;
it. (Snf)(x) = f(z) for all x € T such that f is continuous at x;
iti. Spf — f uniformly if f is continuous.

Part (iii) says that for a continuous function f, if S, f converges uniformly
to something, that something must be f.

Proof Let g be the uniform limit of the sequence (S, f). By Fact A4.8, g is
continuous. Certainly S,f — ¢ in | - |1, so f(k) = g(k) for all k € Z by
Lemma C1.3 (taking ‘c;’ to be f(k) and ‘f’ to be g). The result now follows
from Corollary B8.5. O
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C2 What if the Fourier coefficients are abso-
lutely summable?

For the lecture of Monday 8 March 2014; part two of two

We saw in Proposition B1.2 that 72 |f(k)|? < oo for any integrable func-
tion f: T — C. However, f may or may not have the stronger property that
Y ore o |f(k)| < o0. (To see why this is stronger, recall Lemma C1.1.)

In this section, we will see that if 357 __|f(k)| < oo then the Fourier series
of f behaves well, in a sense that will be made precise. In the next section, we
will see that many common functions do have this property.

We begin with a result on double sequences.

Proposition C2.1 Let ¢ € CZ. Suppose that Y po _|cx| < oo. Then the

n o0
sequence (Zszn ckek) converges uniformly to a continuous function g.

Moreover, g(k) = ¢, for Wl k € Z.

Proof For n >0, write s, = Y/ ciey.

First we show that the sequence (s,) converges pointwise. Indeed, let = € T.
Given € > 0, we can choose N such that }7, . ;> |ck| < e; then for all m >
n> N, -

Z crex ()

k: n<|k|<m

< Z ‘Ck| < e.

k: n<|k|<m

‘SM(x) - Sn(m” =

So the sequence (s,(x))2, is Cauchy, and therefore convergent, as claimed.
Next, for each x € T, put

o

g(x) = lim s,(z) = Z crer ().

k=—o0

This defines a function g: T — C. Now (s,) converges uniformly to g, since

Z crer(z)| < Z lek| — 0

k: |k|>n k: |k|>n

[[$n — glloc = sup
z€eT

as n — oo. By Fact A4.8, g is therefore continuous, and by Lemma C1.3,
g(k) = ¢ for all k € Z. O

We now come to the most important result of Part C so far.

Theorem C2.2 Let f: T — C be an integrable function. — Suppose that
Sre oo [f (k)] < 00, Then:

i. (Spf)(x) = f(x) asn — oo for all x € T such that f is continuous at x;
1. Spf — f uniformly if f is continuous.

Proof By Proposition C2.1 (taking ¢, to be f(k)), the Fourier partial sums S,, f

converge uniformly to some continuous function g: T — C, and §(k) = f(k) for
all k € Z. The result follows from Corollary B8.5.
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C3 Continuously differentiable functions

For the lecture of Thursday 6 March 2014; part one of two

We have just shown that if Y ;0 | f(k)| < oo then the Fourier series of
f behaves well (Theorem C2.2). If you had a particular function f in front of
you, you might be able to calculate its Fourier coefficients, you might be able
to calculate the sum of their absolute values, and that sum might be finite.
In that case, you could conclude that the Fourier series of that particular f
was well-behaved. But are there general conditions on f guaranteeing that
S )] < 07

The answer turns out to be yes. But beware that not all integrable functions
f: T — C satisfy 3|f(k)| < co. In fact, there exist quite ‘nice’ functions f

with Y |f(k)| = occ:
Example C3.1 Define f: T — C by

fla) = Z sin(?wn;ﬂ)'

nlogn
n>2 g

One can show that S, f — f uniformly, and so f is continuous. One can also
show that > |f(k)| = co. (The proof of both these statements is omitted and
non-examinable.) So a continuous function f need not satisfy > |f(k)| < oo.

However, we will see that if f is smooth enough, the Fourier coefficients
decay fast enough that > |f(k)| converges.

Definition C3.2 Let n > 0. We write C™(T) for the set of functions T — C
whose corresponding 1-periodic function g: R — C is n times continuously
differentiable (that is, g(™ exists and is continuous). We also write

C(T) = C°(T) = {continuous functions T — C}.

For example, a function T — C belongs to the set C(T) if and only if the
corresponding 1-periodic function R — C is continuously differentiable.

Lemma C3.3 Letn >0, f € C(T), and k € Z. Then

FO (k) = (2mik)" f (k).
Proof Sheet 3, q.6(ii). O

In other words, differentiating f amounts to multiplying its kth Fourier
coeflicient by 2mik.

We can now prove the 1829 theorem of Dirichlet, one of the early landmarks
of Fourier analysis. In fact, what we prove is stronger than the version stated
earlier (Theorem A2.1): there, we only asserted pointwise convergence, but here
we prove uniform convergence.

Theorem C3.4 (Dirichlet) Let f € C'(T). Then > po 1f(k)] < oo and
Snf — [ uniformly.
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Since uniform convergence is the strongest kind of convergence, this tells us
that the Fourier series of a continuously differentiable function converges in all
five senses. Thus, it behaves as well as any function could.

Proof For k # 0, we have

)1 = 170 - 3 (1)
1/= 2 1 )

< 5 (IF®P + ame) (C:2)
_rwmr ., 1 .

2 + 8m2k2’ (C:3)

where in (C:1) we used Lemma C3.3 and in (C:2) we used the fact that uv <
2 (u? + v?) for all u,v € R (proof: exercise). So to show that > ;o |f (k)| is
finite, it suffices to show that the sum of (C:3) over all k € Z is finite. First, f’ is
continuous and so integrable; hence Y ;2 \?’\(k)|2

Second, . .
Z =i 22? < 00.

0#£kEZ k>1

Hence > 70 |/ (k)| < oo, giving Sy f — f uniformly by Theorem C2.2. O

< 00 by Proposition B1.2.

Remark C3.5 We have just shown that
fechr) = Y Iik)] < oo

But the converse fails, even for continuous functions. Here is an example due
to Weierstrass:

flz) = Z 27" cos(2" ).

It can be shown (non-examinably) that 7 |f(k)| < oo and that f is continu-
ous. But it can also be shown that f is not differentiable anywhere, let alone
continuously differentiable everywhere.
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C4 Fejér’s theorem

For the lecture of Thursday 6 March 201/4; part two of two

Du Bois-Reymond’s example (Theorem A2.2) tells us that for a continuous
function f: T — C and a point & € T, the sequence ((Snf)(x)):O:O need not
have a limit. However, Fejér showed that it always has a Cesdro limit, namely,
f(z). His result is the centrepiece of this section.

In Part B, we proved that S, f — f in || - ||2 by proving that f* F, — f in
I - l2- We did that by proving that (i) (F,) is a PAD, and (ii) f * K,, — f in
| - ||z for any PAD (K,,). We adopt a similar strategy here, but with pointwise
and uniform convergence in place of mean square convergence.

For integrable f: T — C, we have

1
f*Fn:f*n+1(D0+"'+Dn)
1
= (Dot [+ D)
1
:n+1(50f++snf)

This is nothing but the nth Cesaro mean of the sequence Sy f, S1f,.... We will
write

A,Lf:%H(SOf++Snf):f*Fn

To say that f(z) is the Cesaro limit of the sequence ((S,f)(z)) is to say that
(A f)(x) = f(x) as n — o0, or equivalently that (fxF,)(x) — f(x) as n — co.
Here is a summary of the notation and terminology:

‘ Ordinary convergence Cesaro convergence
nth term in sequence | S, f Anf
nth kernel D,, (Dirichlet) F,, (Fejér)

To prove Fejér’s theorem, we will need to know a little more about PADs.
We showed in Section B5 that for any PAD (K,) and integrable function f, we
have f * K, — f in both || - |2 and || - ||;. That result cannot be strengthened
to convergence in || - || for arbitrary integrable functions f, since each f * K,
is continuous and a uniform limit of continuous functions is continuous. So the
best we could hope for is that if f is continuous then f* K, — f in || - ||co-
We might also hope to be able to prove a result about convergence at particular
points. Both these hopes are fulfilled:

Proposition C4.1 Let (K,,) be a PAD and f: T — C an integrable function.
Then:

i. (f*Kp)(x)— f(x) asn — oo for all x € T such that f is continuous at
x;
. fx K, — f uniformly if f is continuous.

The proof is similar to the proof of Proposition B5.4, the corresponding
result for the 1-norm.
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Proof For (i), let z € T. In the proof of Proposition B5.4, equation (B:7)
stated that for all n > 0 and ¢ € (0,1/2),

|(f*Kn) (@)~ f(2)] < /

[t]<é

P —t)— F(@) [ Kn(t) di+2]|fl]oo / K, (t) dt.

0<|t|<1/2

Suppose that f is continuous at z. Let € > 0. Choose ¢ € (0,1/2) such that
|f(x—1t)— f(x)] <e/2for all t € (—4,d). By PAD3, we can also choose N such

that for alln > N,
€

K, (t)dt < .
~/6<|t§1/2 4Hf||oo

Then for all n > N,

c 3
* Kp, - =9 n(t)d * 4llfll
(P B = HaN =5 o Ot 2 e g
c 1/2 £
< 2 ~1/2 Kalt)di + 2= °

as required.

For (ii), suppose that f is continuous. Let £ > 0. Every continuous map
from a compact metric space to a metric space is uniformly continuous, and T
is compact, so f is uniformly continuous. Hence we can choose § € (0,1/2) such
that for all z € T and ¢t € (—6,0), we have |f(z —t) — f(x)] < e/2.

(In case you have not previously encountered this theorem about metric
spaces, an alternative argument is available. Here we use instead the theorem
that any continuous function on a closed bounded interval is uniformly contin-
uous. Since f is continuous on [—1,1], it is uniformly continuous there. So by
interpreting T as [—1/2,1/2), we can choose ¢ as in the last paragraph.)

By PAD3, we can choose N as in the proof of (i). For all z € T, for all
n > N, we calculate that |(f x K,)(x) — f(z)| < €, again as in the proof of (i).
So ||f * Ky, — flleo < e for all n > N, as required. O

Theorem C4.2 (Fejér) Let f: T — C be an integrable function. Then:
i. (Apf)(x) = f(x) asn — oo for all x € T such that f is continuous at x;
1. Anf — f uniformly if f is continuous.

Proof (F,) is a PAD and A, f = f * F,, so this follows from the last proposi-
tion. U

Looking back at du Bois—Reymond’s example (Theorem A2.2), we see that
the sequence (A, f) is more likely to converge than the sequence (S, f).

Remark C4.3 If f,g: T — C with f(k) = (k) for all k, then A, f = A,g for
all n, so by Fejér’s theorem, f(z) = g(x) for all z € T such that f and g are both
continuous at x. This gives an alternative proof of Corollary B8.5(ii), (iii). But
unlike that corollary, Fejér’s theorem gives an explicit way of reconstructing
f from its Fourier coefficients (at least for continuous f): from knowing the
Fourier coefficients, we can compute A, f for each n, and we then obtain f(x)

as hmn_mo (Anf) (x) .
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Corollary C4.4 The set {trigonometric polynomials} is dense in C(T) with
respect to ||+ || oo -

Proof Let f € C(T). For each n > 0, the function A, f is a trigonometric
polynomial, since Spf,...,S,f are. The result follows from part (ii) of Fejér’s
theorem. 0

By Lemma A4.10(i), density with respect to || - || is the strongest type of
density (that is, stronger than density with respect to || - ||2 or || - ||1). Corol-
lary C4.4 can be compared to Corollary B8.2, which stated that the set of
trigonometric polynomials is dense in the set of integrable functions with re-

spect to || - ||z (hence || - [|1).
(Faced with this, it is natural to ask whether Corollary B8.2 can be improved
to density with respect to || - ||oo. The answer is no, again because a uniform

limit of continuous functions is continuous.)

Corollary C4.5 (Weierstrass approximation theorem) Let I C R be a
closed bounded interval and f: I — C a continuous function. Then for all
e >0, there exists a polynomial p over C such that sup,¢; |f(x) — p(z)| < e.

Proof Sheet 4. O

This result is important in many ways. For example, it is a basic fact in
numerical analysis, where we might wish to approximate an arbitrary continuous
function by a polynomial. However, we will not need it for anything in the rest
of this course.
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C5 Differentiable functions and the Riemann lo-
calization principle

For the lecture of Monday 10 March

This section contains two major results. First, there is a convergence theorem
for differentiable functions, to add to our existing convergence theorem for con-
tinuously differentiable functions (Dirichlet’s Theorem C3.4). Then, we meet
the deep and shocking ‘localization principle’ of Riemann.

Dirichlet’s theorem states that if f is continuously differentiable then S,, f —
f uniformly. We will weaken both the hypothesis and the conclusion, proving
that if f is differentiable (but not necessarily continuously so) then S, f — f
pointwise (but not necessarily uniformly).

To prove this, we need another fact about integration.

Fact C5.1 Let I C R be a bounded interval and x € I. Let g: I — C be a
bounded function such that for all 6 > 0, the restriction g|p\(z—sqz+s) 05 inte-
grable. Then g is integrable.

The proof is omitted and non-examinable, but can be found in the appendix
of the book Fourier Analysis by Stein and Shakarchi.

Theorem C5.2 Let f: T — C be an integrable function. Then:
i. (Snf)(x) — f(z) for all x € T such that f is differentiable at x;
1. Spf — f pointwise if f is differentiable.

Proof We just have to prove (i), since this immediately implies (ii). Take z € T
such that f is differentiable at z.
For all n > 0,
@)= (SuH)a) = [ Duf(@)de = [ Doo)f e —1)ar ()

oy EEUERG
T

et =1 (f(x) = flz—t))dt (C:5)

_ /T (ens1(t) — e_n())g(t) dt, (C:6)

where in (C:4) we used the fact that [, Dy(t)dt = 1, in (C:5) we used equa-
tion (B:13) (from the proof of Lemma B7.2), and in (C:6) we put

flx) = flz—1)
g(t) = T el -1
for 0 < |t| < 1/2. If g is integrable then
f@) = (Suf) (@) =g(—(n+1)) —§(n) = 0—0=0

as n — 00, by the Riemann—Lebesgue lemma (Proposition B1.2), completing
the proof. So it is enough to prove that g is integrable. To do this, we will need
the assumption that f is differentiable at x, which we have not used yet.

58



We prove that g is integrable using Fact C5.1.

First we show that for each § > 0, the function g|{_1 /2,1/2)\(s,s) is integrable.
Let 6 > 0. By Lemma A3.7, it is enough to show that the restrictions of the
functions

t1/(ei(t) = 1),  te flz) - flz—1)
to [=1/2,1/2) \ (—0,d) are both integrable. And indeed, the first restricted
function is integrable because it is continuous and bounded, and the second is
integrable because f is.
Next we show that g is bounded. For 0 < || < 1/2, we have
f@) - fl@—1) t

1
g(t) = ; 'el(t)—lﬁfl(w).Tm' ast— 0,

using 'Hopital’s rule in the second factor. Define ¢g(0) = f/(z)/2xi; then g is
continuous at 0, so there exists 7 > 0 such that g[_,, , is bounded. But also,
9l[=1/2,1/2)\(=n.n) is bounded (since it is integrable). Hence g itself is bounded.

It follows from Fact C5.1 that g is integrable, as required. O

It once seems to have been believed that although a continuous function
need not be differentiable everywhere, it must be differentiable somewhere. If
this were the case, Theorem C5.2 would tell us that the Fourier series of a
continuous function f must converge to f(z) for at least one value of z. However,
Weierstrass’s example of a continuous function that is nowhere differentiable
(Remark C3.5) shows that this strategy will not work.

We now use Theorem C5.2 to deduce the second major result of this sec-
tion, the Riemann localization principle. A good way to prepare for this is to
look back at Section Al (the algebraist’s dream), and especially the two points
labelled ‘7’ there.

Remark C5.3 The Taylor series

> f£(n)
@) =3 LW

=0

of an infinitely differentiable function f is ‘determined locally’ at 0. That is, if
f,9: R — C with f|_ss) = gl(—s,s) for some 6 > 0, then T f = Tg. In contrast,
the Fourier series of f: C — C is not determined locally at 0 (or indeed at any
other point), since each coefficient

ﬂm:Af@f%Wa

involves all of f. Thus, given f,g: T — C with f|_ss) = gl(—ss) for some
0 > 0, we can not deduce that Sf = Sg.
The next result therefore comes as a surprise.

Corollary C5.4 (Riemann localization principle) Let f,g: T — C be in-
tegrable functions and x € T. Suppose there exists 6 > 0 such that f|y—5q045) =

g|(:1:75,:v+6) . Then

(Spf)(x) = f(x) asn =00 <= (Snpg)(x) = g(x) as n — .
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In other words, whether or not the Fourier series of f at = converges to f(z)
depends only on the behaviour of f near x.

Proof The integrable function f — g: T — C has constant value 0 on some
neighbourhood of z, so is differentiable at x. Hence by Theorem C5.2,

(Sn(f—9)(z) = (f —9)(z) as n — oo.

Equivalently,
(Snf)(x) — (Shg)(x) = 0 as n — oo.

The result follows. O

The theme of ‘local versus global” becomes increasingly visible at this level
of mathematics. You may have met it in differential geometry; for example,
a surface is locally like R2, but globally may be quite unlike it. In number
theory, there is the local-to-global principle of Hasse, which has to do with p-adic
numbers and is helpful in determining the solvability of polynomial equations
over the integers. The interplay between local and global is captured formally
by the notion of sheaf, which is especially prominent in algebraic geometry.
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€2

Figure C.1: The beginning of the sequence (z,,)32,, where z,, = (2n).

C6 Weyl’s equidistribution theorem

For the lecture of Thursday 13 March

This section is an application of our theory. We will use what we have learned
to solve a problem that appears to have nothing to do with Fourier analysis.
Question:

Which sequences z1, 3, ... in [0,1) are ‘evenly spread’?
More fundamentally:

What does it mean for a sequence 1,2, ... in [0,1) to be ‘evenly
spread’?

We answer the second question immediately. Write #.S for the cardinality of a
finite set S. (You might be more used to |S|, but that could be confused with
the notation |I| for the length of an interval I.)

Definition C6.1 A sequence (x,)52 in [0,1) is equidistributed if for all
intervals I C [0, 1),

1
—-#{je{l,...,n}t:z; €I} > |I| asn— .
n

So, roughly speaking, for (z,) to be equidistributed means that for large n,
about 1/2 of x1,...,z, are in (0,1/2], about 1/5 are in [3/5,4/5], and so on.

Given z € R, write (z) =  — [z]. Thus, (z) is the unique element of [0, 1)
such that z— (z) € Z (or equivalently, such that (x) represents the same element
of T as x).

Examples C6.2 i. For n > 1, put x, = <%n> (Figure C.1). Then z, €
{0,1/8,...,7/8} for all n, so
1 .
ﬁ~#{] €{l,....n}:2;€(0,1/8)} =0
for all n, whereas |(0,1/8)] = 1/8. So (z,) is not equidistributed.

ii. Similarly, for any o € Q, the sequence (<noz))zo: is not equidistributed.

1
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So far, we haven’t seen any examples of equidistributed sequences, only non-
examples. It’s not obvious that there are any equidistributed sequences at all!
But using Fourier analysis, we’ll construct lots.

When we defined equidistributed sequence, we were choosing a precise mean-
ing for the phrase ‘evenly spread’. But here’s a different, less obvious interpre-
tation. We could say that a sequence (z,) in [0, 1) is ‘evenly spread’ if for all
integrable functions f: T — C,

n

1
lz‘f(g;j)*)/o' f(t)dt asmn — oo. (C:7)

=1

Think for a while about why this is a sensible idea—understanding the rest of
this section depends on it.

There are variations on this idea in which we use different classes of func-
tions. For instance, we could regard (x,) as ‘evenly spread’ if (C:7) holds for
all continuous (rather than integrable) functions f, or all step functions, or all
characters, etc. Actually, one of these variations produces the notion of equidis-
tributed sequence itself:

Lemma C6.3 Let (2,)%2 be a sequence in [0,1). Then (x,,) is equidistributed
if and only if (C:7) holds whenever f is the characteristic function of an interval
in [0,1).

Proof For an interval I C [0,1), and for n > 1, we have
1 — 1 .
HZXI(I’j) = E#{j e{l,...,n}:z; €I}
j=1

and )
/ xr(t)dt =1I|.
0
The result follows. O

We now show that all these notions of ‘evenly spread’ sequence produced by
choosing different classes of function are, in fact, the same.

Theorem C6.4 Let (z,)22, be a sequence in [0,1). The following are equiva-
lent:

i. holds for all integrable f: T — C;
1. holds for all characters f =er: T — C, where k € Z;
w. holds for all continuous f: T — C;

v.

(C:7)
(C:7)
iti. (C:7) holds for all trigonometric polynomials f: T — C;
(C:7)
(C:7)

holds for all characteristic functions f = xy: T — C, where I C
[0,1) is an interval;

vi. (C:7) holds for all step functions f: T — C.
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Proof We show that (i) = (ii) = (iii) = (iv) = (v) = (vi) = (i).

(i) = (ii): trivial.

(ii) = (iil): assume (ii). Let f = Y_;-_, crex be a trigonometric polynomial.
Then

m

1 i 1 & m 1 1
E;ﬂmi)_ > ck.ﬁjz:gek(%‘j)—> > Ck/o ek(t)dt—/o f(t)dt

k=—m k=—m

as m — 00.

(ili) = (iv): assume (iii). Let f: T — C be a continuous function. Let
€ > 0. By Corollary C4.4, we can find a trigonometric polynomial g such that
If = glloo < /3. By assumption, we can choose N such that for all n > N,

% ig(xj) - /01 (®) dt‘ < /3.

Then for all n > N, using the triangle inequality,
1 n 1 1 n 1 n
ESMCORY WIOIEIED O o7/
j=1 0 j=1 j=1

/01 g(t)dt — /01 £(t) dt‘

n

1
<SS =gl /3415 gl
j=1

n

LS gten - [ ot af

Jj=1

"

+

<Nf = gllo /341 =gl <&

(iv) = (v): assume (iv). Let I C [0,1) be an interval, and let £ > 0. We
can find a continuous function gy : [0,1) — R such that gy (t) > x;(t) for all
t€10,1) and

| v~ [ xiar <z

(Figure C.2). By assumption, we can choose N > 1 such that for all n > N,

n 1
Zgu(fcj)—/ gU(t)dt‘ <e/2.
j=1 0
So for all m > N,

%fo(xj)—/o i(b) dt (C:8)
%ZQU(%‘)—/O x1(t)dt

(iéwp _ /OlgUos) i) + (/Olgym - /lemf) )

<e/2+¢€/2=c¢.

IN
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Figure C.2: The characteristic function y; of an interval, and a continuous
function gy approximating it. (It is intended here that gy (z) = x7(x) for most
values of z; the graphs are drawn a small distance apart for visual clarity only.)

Similarly, by approximating x; from below instead of above, (C:8) is greater
than —e.

(v) = (vi): this is the same argument as in (ii) = (iii). (Every step function
is a finite linear combination of characteristic functions of intervals, just as every
trigonometric polynomial is a finite linear combination of characters.)

(vi) = (i): assume (vi). First take a real-valued integrable function f: T —
R. Let € > 0. In the proof of Proposition A9.4, we showed that there is a
step function gj, (called g there) such that gz (¢) < f(t) for all ¢ € [0,1) and
fol F&)dt — fol gr(t)dt < €/2. Similarly, there is a step function gy such that
gu(t) > f(t) for all t € [0,1) and [, gu(t)dt — [, f(t)dt < e/2. Arguing as in
(iv) = (v), we get 257 | f(x;) — [} f(t)dt as n — oo.

Now take any integrable function f: T — C. Then f = f; + ify where
f1, f2: T — R are integrable functions. The result follows by linearity, using the
argument of (ii) = (iii) again. O

Corollary C6.5 Let (x,)52, be a sequence in [0,1). Then (x,) is equidis-
tributed if and only if it satisfies Weyl’s criterion:

1N om
for each integer k #0, — E >k 5 0 as n — 0.
n
=1

Proof This is essentially (v) <= (ii) of Theorem C6.4. Indeed, condition (v)
is equivalent to (z,,) being equidistributed, by Lemma C6.3. Condition (ii) holds
if and only if for each k € Z,

LN ik !
— 262’”"'”1 — / er(t) dt as n — oo. (C:9)
n = 0

When k = 0, (C:9) holds for any sequence () (check!). On the other hand,

fol ex(t) dt = (eg, e9) = 0 whenever k # 0. The result follows. O

This enables us to find, at last, some examples of equidistributed sequences.
Corollary C6.6 (Weyl’s equidistribution theorem) Let « € R\ Q. Then

the sequence ((na>)zo:1 in [0,1) is equidistributed.

Proof We verify Weyl’s criterion. Let 0 # k € Z. For all n > 1,
1 - 2mik(jo) __ 1 S 2mwikjo
2T = e
j=1 Jj=1
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since (ja) — ja € Z. We sum this geometric series using the standard formula,
which is valid as long as the ratio is not equal to 1. Here, this means e27%# £ 1,
or equivalently ka & Z, which is true as k # 0 and « € Q. Thus, the formula is
valid and the sum of the geometric series is

leQﬂika eQﬂikna -1
n eQﬂ'ika -1 .
So for all n > 1,
n 2mikna
lzezmk@a) <l,’e ‘ |+‘1|:l. .2 =0
n = - n }627rzka _ 1| n ’627rzka —1
as n — oo. ([l

Example C6.7 Consider the sequence

e=2718..., 2e=5436..., 3¢ = 8.154..., ....
The sequence ((ne))zo:l of fractional parts is

0.718..., 0.436..., 0.154..., ....

Weyl’s equidistribution theorem tells us that ‘in the long run’, about 1/100 of
these fractional parts lie between 0.12 and 0.13 (for instance). In particular,
there are infinitely many natural numbers n such that

0.12 < (ne) < 0.13.

Could you prove this without Weyl’s theorem? Could you prove that there is
even one number n with this property?
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Chapter D

Duality

This course is called Fourier Analysis, but we have focused throughout on
Fourier series. You're aware that Fourier transforms are also important. What
is the relationship between the two?

Section D1 gives the answer. We’'ll see there that by looking at Fourier
analysis from sufficiently high altitude—by taking a bird’s eye view—it becomes
apparent that Fourier series and Fourier transforms are two special cases of the
same general construction.

But it also becomes apparent that there are other interesting special cases.
One case that is both interesting and easy is Fourier analysis on finite abelian
groups. That’s what we’ll study for the rest of Part D.

D1 An abstract view of Fourier analysis

For the lecture of Monday 17 March

This section (D1) is not directly examinable, but reading it is recommended: it
should help you to understand the ideas behind Part D and how it relates to the
rest of the course.

The right general context for Fourier analysis is that of topological groups. To
understand what a topological group is, you first need to know roughly what
a topological space is. So here is a short, informal introduction to topological
spaces.

Roughly speaking, a set X is called a topological space if we know what
it means to ‘move gradually’ within X. For instance, R™ is a topological space
because we know what it means for one point to be close to another, and we
know what a ‘continuous path’ in R™ is (namely, a continuous map [0, 1] — R™).
Similarly, the sphere is a topological space: you know what it means to move
gradually on the surface of the earth. The circle T is a topological space for the
same reason.

Some non-mathematical examples to help your intuition: the set of all
colours is a topological space, because you know what it means for a colour
to change gradually. The set of all possible human faces is a topological space,
because you know what it means for a face to change gradually (e.g. as you
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age) or for one face to be similar to another. Your own changing face defines a
continuous map f from [0, 1] to the space of all faces, with f(0) being your face
at birth and f(1) your face at death.

Formally, a topological space is a set X equipped with some extra data
(specifying what it means to ‘move gradually’). That extra data is called a
‘topology’ on X. We will not need the formal definition.

Some topological spaces are rather trivial. For instance, you can’t move
gradually from one integer to another without passing through non-integers, so
the set Z is a topological space in a trivial way: the only way of moving gradually
is to stay still. Formally, this is called the discrete topology on Z. (If you know
the definition of topological space, the discrete topology is the topology in which
all subsets are open.) Any set can be given the discrete topology.

Topological spaces are the right context for the definition of continuous map.
You know what continuity means for a function R — R, and more generally for
a function R™ — R™, and also for a function T — C. Given topological spaces
X and Y, there is a definition of what it means for a function X — Y to be
continuous. The definitions for R™, T, C, etc. are all special cases of this general
definition.

Roughly speaking, a topological group is a topological space that is also
a group. We are most interested in those topological groups that are abelian
(that is, the multiplication is commutative) and ‘locally compact’ (a condition
that I will not explain; it is satisfied by all the examples I will mention). So,
what we are interested in is locally compact, abelian topological groups, which
are usually just called ‘locally compact abelian groups’ or LCAGs for short.

Examples D1.1 i. R™ is a LCAG (with addition as the group operation),
for any n > 0.

ii. The circle T is a LCAG too. Recall that T is the quotient group R/Z, so
that its group operation is addition too.

iii. Z is a LCAG, with + as the group operation and the discrete topology.
iv. Any finite abelian group is a LCAG, with the discrete topology.

v. S={z € C: |z| =1} is a LCAG, with - as the group operation. In fact,
T =2 S, via the map t — €27,

Definition D1.2 Let G be a LCAG. A character of G is a continuous group
homomorphism G — S.

Examples D1.3 i. For each { € R", there is a character e¢ of R" defined
by
65(1’) _ e27ri£.w
(x € R™), where £.x is the dot product of £ and x. (This is the ordinary
product in the case n = 1.) You know that e, is continuous, and you can
easily check that e¢ is a group homomorphism (try it!). Fact: these are
the only characters of R™.

ii. For each k € Z, there is a character e; of T defined in the usual way.
Lemma A7.2 states exactly that each ey is a character in the sense of Def-
inition D1.2. Fact: these are the only characters of T. So, the characters
of T in our new sense are precisely the characters of T in our old sense.
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iii. For each ¢t € T, there is a character ¢; of Z defined by
Et(k) _ e27rikt

(t € T). Again, you can easily check that each £, really is a character,

that is, a continuous homomorphism. Fact: these are the only characters
of Z.

The set N
G = {characters of G}

forms a LCAG in a natural way. I won’t describe the topology, but the group
structure is given ‘pointwise’: if e; and eg are characters of G then the character
e1 - ez is defined by (e1 - e2)(z) = e1(x) - e2(z) (x € G). The hat notation is
related to, but different from, the hat notation f for the Fourier coefficients or
Fourier transform of a function f.

Examples D1.3 tell us what G is for various LCAGs G:

G |G
R™ | R®
T |z
Z | T

For instance, T = Z because we have an isomorphism

Z - T
k — e

We saw in Lemma A7.3 that this map is a homomorphism, and in Exam-
ple D1.3(ii) that this map is surjective. It is not hard to see that it is also
injective (that is, e; and ey are different if k # £). So, it is an isomorphism of
groups, and in fact an isomorphism of topological groups (that is, a homeomor-
phism to00).

In each of the three cases in the table, G~G In fact, this is a general
phenomenon:

Theorem D1.4 (Pontryagin duality) GG for all LCAGs G.

The group G can be thought of as the ‘mirror image’ of the group G (Fig-
ure D.1). Pontryagin duality states that the mirror image of the mirror image
of G is G itself.

We now look briefly at Fourier analysis on locally compact abelian groups.

Let G be a LCAG. ‘Nice’ functions on G can be integrated. For example,
you’re used to integrating nice functions on R™ or T. In the case of Z, a function
Z — C s just a double sequence (¢)72 . in C, and integrating it means taking
its sum (which is possible if it’s ‘nice’ enough).

We can define the Fourier transform of a nice function on G, and also the
inverse Fourier transform of a nice function on G:

() ~
{nice functions on G} ——={nice functions on G},

)
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ordinary Fourier transforms

Fourier series

~ f abelian
rest of Part D

Locally compact abelian groups

Figure D.1: The world of locally compact abelian groups. Think of the dotted
line down the middle as a mirror. Reflecting in the mirror swaps G with G.

as follows: for a ‘nice’ function f: G — C, we define its Fourier transform
f:G— Cby

ﬂ@=waJBm

(e € @), and for a ‘nice’ function ¢: G — C, we define its inverse Fourier
transform ¢: G — C by

ﬂm=éMWMMe

(z € G). The terminology suggests that the two processes should be mutually
inverse, which they are if the functions are ‘nice’ enough.

When G = R" (and so G = R™ too), f is the usual Fourier transform
of a function f: R® — C (see Example D1.3(i)), and ¢ is the inverse Fourier
transform of a function ¢: R™ — C.

When G = T (and so G = Z), what is here called f(e;,) is what we usually
call f (k), the kth Fourier coefficient of f. Given a double sequence ¢: Z — C,
what is here called ¢(x) is > kez @(k)ex(x). So, this is nothing but Fantasy A8.7.

Both Fourier transforms and Fourier series therefore arise as special cases
of the general theory of Fourier transforms on locally compact abelian groups.
Developing this theory is a major undertaking, requiring some of the theory of
topological groups and also some measure theory. But there is a special case in
which all the complications disappear, and that is what we will study for the
rest of the course. It is the theory of Fourier transforms on finite abelian groups.
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D2 The dual of a finite abelian group

For the lecture of Monday 24 March. (Lecture of Thu 20 March is cancelled)

Maybe you’re fed up with fussy analytic conditions: this function is continu-
ously differentiable, that series is absolutely summable, and so on. If so, the last
few lectures are for you. They will show you a world in which Fourier analysis
works beautifully without any analytic conditions at all.

Everything will be developed from the ground up, assuming only some ba-
sic group theory. I will not assume any definitions, notation or results from
Section D1.

Definition D2.1 We denote by S the multiplicative group {z € C: |z| = 1}.

Note that z = 27! for z € S.

When we do Fourier analysis on finite abelian groups, we will always use
multiplicative notation for our groups (even though the locally compact abelian
groups in Section D1 were written additively). It’s only notation.

Lemma D2.2 Let G be a group. Then the set
G = {homomorphisms G — S}

is a group under the following operations:

e the product of e1,es € G is the product function ey - e5 (defined as in
Notation A3.3);

e the inverse of e € Gise (again, defined as in Notation A3.3);
e the identity is the constant function 1.

Proof The set of all functions G — S is certainly a group under these opera-
tions. We show that G is a subgroup of this group, that is:

e if e1,e9: G — S are homomorphisms then so is e; - es;
e if e: G — S is a homomorphism then so is €;
e the constant function 1: G — S is a homomorphism.

For the first one, if ej,es € G then for all x,y € G,

(e1 - ea)(zy) = er(zy)ea(zy) (by definition of e; - e2)

er1(z)er(y)ea(x)ea(y) (since e; and eg are homomorphisms)

= ey(x)ea(x)er(y)ea(y) (since S is abelian)

(e1-ea)(x) - (e1 - ea)(y) (by definition of e - es),

S0 €1 - €3 is a homomorphism. The arguments for € and 1 are similar (but
simpler). O

Definition D2.3 Let G be a finite abelian group. A character of G is a
homomorphism G' — S. The character group or Pontryagin dual of G is
the group G.
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Figure D.2: The complex nth roots of unity are exactly the powers of
exp(2mi/n). Shown: n = 7.

Let us pause to compare this with the definitions in Section D1 (although
this is not logically necessary for anything that follows). In Definition D1.2, a
character of a topological group G was defined to be a continuous homomor-
phism G — S. In Definition D2.3, continuity isn’t mentioned. What’s going
on?

Implicitly, we are putting the discrete topology on our finite abelian groups
(as in Example D1.1(iv)). The discrete topology has the special property that
all maps out of a discrete space are automatically continuous. Thus, when G
is given the discrete topology, a continuous homomorphism G — S is the same
thing as an ordinary homomorphism G — S. One of the nice things about
Fourier theory for finite abelian groups is that the topological and analytic
conditions vanish entirely.

Coming back to the main story, let C,, denote the cyclic group of order n.

Lemma D2.4 C,, = C, for alln > 1.

Proof Let n > 1. We prove that 6’; is a cyclic group of order n.
Choose a generator x of C,. Let w = exp(2mi/n), and note that the complex
numbers z satisfying z™ = 1 are exactly the integer powers of w (Fig. D.2).
Define d: C,, — Sby d(z") = w" (r € Z). This is well-defined, as if 2™ = "
then 1 = r9 (mod n), so w™ = w™ (using the fact that w™ = 1). It is also a
homomorphism, since for r, s € Z,

d(z" - z°) =d(@"*) =W =w" - w' =d(z") - d(z*).

So d is a character of C,,.

Now let e be any character of C,,. We have e(x)” = e(z™) = e(1) = 1, so
e(z) = w” for some r € Z. I claim that e = d". Indeed, given y € C,,, we have
y = z® for some s € Z, and then

e(y) = e(z”) = e(x)” = " = d(2)"™ = d(z”)" = d(y)" = d"(y),

proving the claim. So 6’; is cyclic, generated by d.

It remains to find the order of d. Certainly d™ = 1, since every element of
C,, is of the form z” for some r € Z, and d"(2") = d(z)"" = w™ = 1. On the
other hand, if 1 <m < n then d"(z) = w™ # 1, so d™ # 1. So d has order n.

We have shown that 6’; is a cyclic group generated by an element of order
n. Thus, C, = C,,. O
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Next recall that any two groups G; and Gs have a product (also called a
‘direct product’) G1 x Ga.

Lemma D2.5 GT@Z =~ é\l X é\g for all finite abelian groups G1 and Gs.
Proof Sheet 5. [l

Fact D2.6 Ewvery finite abelian group is isomorphic to Cp, X Cp, X -+ x Cy,.
for some k,ny,no, ... ,ng > 1.

This is part of the classification theorem for finite abelian groups, which you
may have met in other courses.
Putting together the last three results gives:

Proposition D2.7 GG for every finite abelian group G.
Proof This follows from Lemma D2.4, Lemma D2.5 and Fact D2.6. [

This proposition is the reason why the finite abelian groups were drawn on
the central dotted line (the ‘mirror’) of Figure D.1.

Remark D2.8 For a given G, there is usually no canonical (i.e. God-given)

isomorphism G — G. In order to construct an isomorphism, you have to make
some arbitrary choice, of the same kind you make when tossing a coin or choosing
a basis for a vector space.
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D3 Fourier transforms on a finite abelian group

For the lecture of Thursday 27 March

First we’ll make some definitions analogous to the definitions for Fourier series.

Then we’ll prove some results analogous to results on Fourier series. We’ll

discover that life is much easier on a finite abelian group than on the circle.
For the rest of this section, let G be a finite abelian group.

Definition D3.1 i. Given a set X, write Fn(X) = {functions X — C}.

ii. For f € Fn(G), write [, f(z) dz = 55 > ,cq f(2).

iii. For f,g € Fn(G), write (f,g) = [ f(z)g(x) dz.

In (i), Fn(X) is a vector space over C, via the usual addition and scalar
multiplication of functions (as in Notation A3.3).

In (i), the factor 7 ensures that [, 1dz = 1, just as [ 1dz = 1. So the

integral of a function on G can be thought of as its mean value, just as for
functions on T.

We now establish some elementary properties of integration, directly analo-
gous to those for ordinary integration stated in Lemma A3.4.

Lemma D3.2 i. For any functions f,g: G — C,

/G(f+9)(ﬂf)d$:/Gf(:v)der/Gg(:v)dx.

1. For any function f: G — C and c € C,

/G (cf)(@)da = /G (@) da.

15. For any function f: G — C,

/Gf(a:)dx:/cf(x)dw.

Proof For (i), let f,g € Fn(G). Then

/ (f+9)(z)dr = / (f(x)+g(x)) dx (by definition of f + g)
G

G

1 o .
Ye] Z(f(ﬂc) +g(x)) (by definition of /G)

zeG
1 1
== 2 @) +5=) 9@
#6251 e 2

_ /G Flz)de + /G g(x)dz  (by definition of / ).

G

Similar arguments prove parts (i) and (iii). O
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Lemma D3.3 (-,-) is an inner product on Fn(G).

Proof This is straightforward, using Lemma D3.2. (Compare your solution to
Sheet 1, q.6(i).) O

Note that (-,-) is a genuine inner product; that is, if (f, f) = 0 then f = 0.
(Contrast the comments after Lemma A6.2.) This is because for f € Fn(G),

1

and if this is 0 then f(z) =0 for all z € G.

In the proof of Lemma AT7.4 (which stated that the characters of T are
orthonormal), it was shown in passing that [, ex(z)dz is 1 if k¥ = 0 and 0
otherwise. Something very similar holds for finite abelian groups.

Lemma D3.4 Let e € G. Then

1 ife=1
/ e(z)dx = ife )
G 0 otherwise.

Remember that the elements of G are homomorphisms, so the ‘1’ in ‘e = 1’
means the constant function 1 from G to C.

Proof If e = 1 then [ e(x)dz =1 (as noted after Definition D3.1).
If e £ 1, choose y € G such that e(y) # 1. Then

1 1
/Ge(:v) dx = T ;e(x) = e Z e(yz)

z€G

since as x runs over G, z =y~ 'z runs over G too. (Morally, this is integration

by substitution; we're substituting = = yz.) So

1
/Ge(a:) dox = Tl Z e(y)e(z) = e(y) /Ge(ac) dx.

zeG

But e(y) # 1, so [, e(z)dzr = 0. O

Proposition D3.5 The characters of G are orthonormal: for ej,es € @,

<€1,62>—{1 ifelzeg

0 otherwise.

(Compare Lemma A7.4, the analogous result on T.)

Proof Let ey, es € G. Since €5 is the inverse of e5 in CA}’, we have e1€3 € G. By
Lemma D3.4,

_ 1 1f616:1 1 if€1:€2
(e1,e9) = [ (erez)(x)dw = = .
G 0 otherwise 0 otherwise. 0
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Definition D3.6 Let f € Fn(G). The Fourier transform of f is the function
f € Fn(G) defined by f(e) = (f,e) (e € G).

(Compare: for Fourier series, f(k) = (f,ex).)
Note that we’ve defined the Fourier transform of any function on G! In our
simple world of finite groups, there’s no integrability to worry about.

~

Proposition D3.7 For all ¢ € Fn(G),

¢ = (Z¢(e)-e)A

ecl

(The right-hand side means f where f = > cca @le) - e. This alternative
notation is simply for typesetting convenience, to avoid very wide hats.)

The sum on the right-hand side is a finite sum, since GG (by Proposi-
tion D2.7) and G is finite. Unlike the circle, G has only finitely many characters.

Proof Both sides of this equation are functions on @, so to prove equality, we
need to take an arbitrary element ¢’ of G and show that evaluating each side at
e’ gives the same result.

Let ¢/ € G. Then

(Z 20 .e)A(e/) - <Z 8(e) e,

ecG
= Z o(e){e,e) (by Lemma D3.3)

= ¢(€) (by orthonormality). O

This result is similar to the ‘Moreover’ part of Pr(A)position C2.1, which stated
that for ‘nice’ ¢ € Fn(Z), we have ¢ = (3, o5 crex)
Recall that Fn(G) is a vector space over C.

Lemma D3.8 dim(Fn(G)) = #G.

Proof For each x € G, define ¢, € Fn(G) by

51@):{1 ify =2

0 otherwise

(y € G). The family (d;).cc spans Fn(G), since if f € Fn(G) then f =
> wcq f(x)dz (check!). It is also linearly independent, since if (c;).eq is a
family of complex numbers such that > ¢z0; = 0, then for each y € G we

zeG
have
0= <Z cw5$> (y) = Z cz0:(y) = ¢y
z€G zeG
So it is a basis. -

Lemma D3.8 doesn’t really have an analogue in the world of Fourier series
(that is, Fourier theory on the circle group T).
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Theorem D3.9 The characters of G form an orthonormal basis of Fu(G).

Proof By Proposition D3.5, the characters are orthonormal. In particular, they
are linearly independent, so the subspace of Fn(G) that they span has dimension
#(A?. But #é = #G = dim(Fn(G)) by Proposition D2.7 and Lemma D3.8, so
their span is Fn(G). O

Hence every function on G is a ‘trigonometric polynomial’ (a finite linear
combination of characters). This makes Fourier analysis on finite groups con-
siderably simpler than Fourier analysis on the circle.

For a function f: G — C, the analogue of the Fourier series of f is the sum
Do & f (e)e. Since this sum is finite, there is no question of convergence; either
it is equal to f, or it is not. The next result says that it is.

Corollary D3.10 For all f € Fn(G), f=>..a f(e)e.
Proof By Theorem D3.9, f =} _a(f,e)e; but f(e) = (f, e) by definition. O

So we can reconstruct a function from its Fourier transform. For Fourier
series, we had to work hard to prove that!

Since we can reconstruct a function from its Fourier transform, if two func-
tions have the same Fourier transform then they must in fact be the same:

Corollary D3.11 Let f,g € Fn(G). If f = § then f = g.
Proof Follows from Corollary D3.10. (]

This is the (simpler) analogue of Corollary B8.5; see also Remark C4.3.
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D4 Fourier inversion on a finite abelian group

For the lecture of Monday 31 March

Throughout this section, let G be a finite abelian group.
Definition D4.1 For ¢ € Fn(G), define ¢ € Fn(G) by ¢ = Yeec dle)e.

The upside-down hat is meant to suggest the opposite of the Fourier trans-
form. It is pronounced ‘check’ (as in ‘phi-check’).

Remark D4.2 Suppose we were dealing with the circle T rather than a finite
abelian group G. We have T = Z (as in Section D1), so ¢ would be an element
of Fn(Z), that is, a double sequence ¢ = (¢x)gez. Then ¢ is notation for the
familiar expression ), _, crex.

Fantasy A8.7 comes true in the setting of finite abelian groups. (No fussy
analytical details!) This is the content of the following theorem.

Theorem D4.3 The maps

O .
()

are linear and mutually inverse. In particular, the vector spaces Fu(G) and
Fn(G) are isomorphic.

Proof Corollary D3.10 states that f = f for all f € Fn(G), and Proposi-
tion D3.7 states that ¢ = ¢ for all ¢ € Fn(G). So (A) and () are mutually

inverse. The map ( ) is linear since (-,-) is linear in the first argument; so its

inverse ( ) is linear too. Hence () and () define an isomorphism of vector
spaces. O

Definition D4.4 For f € Fn(G), define ||f|l2 = /{f, f)-

This defines a norm || - |2 on Fn(G), since (-, -) is an inner product.

Theorem D4.5 (Parseval for finite abelian groups) For all f € Fn(G),

£l = [> " 1f ().
eeé

Proof By Corollary D3.10, f = > & f(e)e. So by orthogonality of the char-
acters,
A1 = (.00 = D 1f (e
ecG O
We know from Theorem D4.3 that the function (A): Fn(G) — Fn(é) is an
isomorphism of vector spaces. We’d like to say that it’s also an isomorphism of
metric spaces, that is, distance-preserving: || f|j2 = ||f||2 for all f € Fn(G). But
the right-hand side is not yet defined. So we make some definitions:
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Definition D4.6 i. For ¢ € Fn(@), define [ d(e)de =Y .5 d(e) € C.
ii. For ¢,1 € Fn(G), define (¢, ¢) = Ja p(e)y(e) de € C.
iii. For ¢ € Fn(@), define [|¢||2 = /(¢, &)

Compare and contrast (i) with Definition D3.1(ii): here, there is no factor
of ﬁ This is to make the following true:

Corollary D4.7 (Parseval, restated) For all f € Fn(G),

1£1l2 = 11/l

Proof This is a restatement of Theorem D4.5, since for ¢ € Fn(G) we have

bl = /> ceq 19(e). O

The characters of G are functions G — C with certain properties. Are there
enough such functions to tell different points of G apart? That is, if x and y
are two different points in G, can we find a character e such that e(z) and e(y)
are different?

The answer is yes, and it’s now easy for us to prove. But it’s not so easy to
prove from scratch: try it!

Proposition D4.8 (Characters separate points) Let z,y € G with  # y.
Then there is some e € G such that e(z) # e(y).

Proof Suppose that e(z) = e(y) for all e € G. Since z # y, there is some
f € Fn(G) such that f(z) # f(y). (E.g. define f by f(z) =1 and f(z) = 0 for
all z # x.) Then by Corollary D3.10,

f@) =3 fe)elw) = 3 fle)ely) = (),
eeé eeé
a contradiction. O

Remark D4.9 We know from Proposition D2.7 that G = G %‘é, so G ~G.

But for all we know so far, there is no canonical choice of isomorphism G —G.
(Recall Remark D2.8.) However, the next result tells us that although there
is no canonical isomorphism between a group and its single dual, there is a
canonical isomorphism between a group and its double dual.

Theorem D4.10 For z € G, define ev, € Fn(G) by
evg(e) = e(x)

(e € (A?) Then ev, €G for all z € G, and the map

Q)

G —
T —> evy

is an isomorphism of groups.



Proof For each = € G, the function ev, is a homomorphism G = S: indeed,
for all eq,es € G, we have

evg(er - e2) = (e1 - ea)(x) (by definition of ev,,)
= e1(x)ez(x) (by definition of e; - e2)

=ev,(e1)evy(es) (by definition of evy).

This means we can define a function ev: G — @ by ev(z) = ev, (z € G).
This function ev is a homomorphism. Indeed,

ev is a homomorphism
= Vz,y € G, ev(zy) =ev(z)-ev(y)
= Vz,y € G, evyy =evy-evy
> Va,y € G,Ve € G, evyy(e) = (evy -evy)(e)
— Vr,yeG,Veed, evyy(e) = evy(e) - evy(e)

> Va,y € G,Ve € G, e(zy) = e(x) - ey),

which is true. So reading the implications from bottom to top, ev is a homo-
morphism.

Next, ev: G — G is injective. For let z,y € G and suppose that ev(z) =
ev(y). Then ev, = ev,, that is, ev,(e) = evy(e) for all e € G. But characters
separate points (Proposition D4.8), so x = y.

Finally, ev: G — G is surjective, since ev is injective, #G = #@ = #@ by
Proposition D2.7, and an injection from one finite set to another set of the same
cardinality is always surjective, by the pigeonhole principle. O

This is Pontryagin’s duality theorem (Theorem D1.4) in the special case of
finite abelian groups.

We have now proved analogues of all the main results on Fourier series in
the setting of finite abelian groups. We have also proved the central theorem
of abstract Fourier analysis (Pontryagin duality) in this simplified setting. And
we have done all this in just a few pages, calling on nothing more than basic
group theory.
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